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Read the following instructions carefully before you open 	 
the question booklet. 

sOl 11fT 4 t iT4 fir fkbil Th'r , 	• 	. . 

I. 	Use 	blue/black 	ball 	point 	pen 	only. 	There 	is 	no 
negative marking. 

1. 	curl tOy (pi 	-07 rertruz 	. t)--9- w. AST 	l ,,,,i0  
'ffef  \5c-c-N.  '$ f.-7 •)Q,4 ITTOT 	fl 

2. 	This test booklet contains 200 questions of one mark 
each. All the questions are compulsory. 

'A'Z'ff 2. 	TTi 	Vti A 200 ITZ9* fef 7Ttt t 171'41 swi .  
i'il`Z 4'11 311Wqr4 t I 

3. 	Part I :- MAT : 1 - 50 questions 
Part 11 :- Language : 51 - 100 questions 
Part III :- SAT : 101 - 200 questions 

3, 	liTTT I : * 	'q&LWT : 1 — 50 FITff 
liTzT 2 : liTtfT OTT7 : 51 — 100 39 
917 3 : ftTizT '4F-dT : 101 — 200 Wq 

4. 	Answer each question by darkening the one correct 
alternative among the 	four choices on the OMR 
SHEET with blue/black ball point pen. 

4, 	TTH Th-q-4 it -of cci 0 7 	tt Vitt f44TFT Thlf '41" 
/ cot c)* '41-cff kiifi c 47 Thai 11 q q t u1-441Wd• Thl I 

Example: .mzv), ______ — 

Q. No. Alternatives Q. No. MwFr 

Titt 	ft-o, (:) Correct way: 1 0 0 • CD --r 1 0 0 0 

Q. No. ft-Ft 
Q. No. Alternatives 

4,,,,,,. I 
Wrong way: I 0 G e 0  0 G 30 0 
Student must darkening the right oval only after ensuring 
correct answer on OMR sheet. 

ft v 	f 	cr) ,)' * trmrd tt we ftwecr 	--1-  31 
'7ff  zwi icr- 	tr7 uTzrfftw Th7t I  

5. 	Disparity in mentioning (SC, ST & PH) in application 
form and OMR sheet can make your candidature 
invalid. 

5. 	3nt-47 17M ')?..TT 34 Ti aiTR-  tr-. 4 $4141 (SC, ST & 
PH) 0 3td7 3TrcrFft trfteff tr ligicii 0 aittT 'ER 
tiocii t' I 

G. 	Students are not allowed to scratch/ alter/ change out 
an answer once marked on OMR Sheet, by using 
white fluid/ eraser/ blade/ tearing/ wearing or in any 
other form. 

6, 	trtffrof .cr- 	wi. 77Ft 41 4 ealuf ‘371.<  •Or ft-itr Ri 

' TTWR TT1-4/ ' OZ/ firer4 'WA. TRV . q (1 t ..'  / 

tffffT TFTrft 0 ITN i4ct 7Ift ' 	itoc) I 

7. 	Separate sheet has been provided for rough work in 
this test booklet 

7, 	grt-TI Th-T4 	f'R 51'.47 igft- 	t ediNfrla= 
— `VI 

t I 
8. 	*Please handover the OMR sheet to the invigilator 

*before leaving the Examination Hall. 
*Take all your question booklets with you. 

. 8. 	*Trzft 	ati 	7 	z.Tri 	tr-• 	trtaiT 	79-per- 	.0-. 	77 	•ERT  

TWftaT 	'0 tk * rivVrff tt vii 	I 
**Tit ITV'ff -gft-T -Tzt.  m't.  3Tzr4 ww t ,iii,  I 

9, 	Darken completely the ovals of your answers on 
OMR 	Sheet 	in 	the 	time 	limit 	allotted 	for 	that 
particular paper. 

'AwfRu 	 fit g, 	w .i  ir/ •q,- 	wilTh't FN-Iftff 31-9zr A iii  1?f 

3t 'STTT 3T7 1:1-1 tR utgacT wt I 

10. Your OMR sheet will be evaluated through electronic 
scanning process. 	Incomplete and 	incorrect entries 
may render your OMR sheet invalid, 

1Q.  3TTErc 3tr 7 37-17 ri-- 	0)--4-1=4w 3-41-ffrr =TT zr-i-r 

viitil 	)114),ii I 3Tzitt 'UP-TT edtpf 3mftzfr 3Trq t 34 
7 3T17 tM '0' AV 	iiWt t I 

11. Use of electronic gadgets, calculator, mobile etc. is 
strictly prohibited.  

•c74-rft 11. 	c,I ct5  f ct, 	T4-zi—A 	,i.j,l uict,, 	7)--41-47 	wr 	w41 ,1  

t&: f4r*ra.  t I 	— 
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MENTAL ABILITY TEST (MAT) 
taa-Tr 

(QUESTION NO. 1 - 50) 
t1'.-q-11 01 - 50) 

1. Ifx + y -f-z• = 0, then value of 

(x + Ay + zAz + x) 
is +11 

1. ?1-ft x ± 1' + z = 0, (- RI 
(A.+ A y + zXz + x) 

I 1 	cb 1 411-1 &ITT I + A,,.: y  

	

1. 	x + 	II 	2. 	y ± 	11 

	

3. 	z + 11 	4. 	10 

xyz 

	

1. 	x + 11 	2. 	y + 11 

	

3. 	z + li 	4. 	10 

2. i f 	sin A + cos A = -‘1 sin(90°--A) 	then 

value of (-F2 +1)tan A will be 	 - 

I. 	I 	 2. 	0 

3. 	/5_. 	 4. 	2 

2.  zift sin A + cos A = -.5.. sin(90°-A) 

Vi + Otan A cPI 4-iN 611 

I. 	1 	 2. 	0 

3. Ali 	 4. 	2 

3. If the point (K, 2) is equidistant from the point 
(5,-2) and (1,-2) then value of K2+7 will be 

	

1. 	10 	 ?. 	9 

	

3. 	12 	 4. 	16 

3. tri . 	it- 	(K, 2) ft- 31) 	(5,-2) 	.4 	(1,-2) 	# 
.-1 4-1V0-1.  t 	cl) 	K24-7 	4)1 	4-11-1 	5) 4 11 I 
1. 	10 	 2. 	9 

3. 	12 	 4. 	16 

4.  If each side of a cube is increased by 40%, then 
how much percent its total surface area will be 
increased. 

	

1. 	76 	 2. 	80 

	

3. 	96 	 4. 	85 1. 

4. 

• 

.c,t) 	1:1- 	.cl-R)- -- "n-TrT311 	111---1 	40%  

4 	Trt 	t 	cil 	*, -1,4', 	ct;c1 	TerEf 	a-Y---cb--F 	-4 

f+--- 	•Wilc1 Ift --ert? 
76 	 2. 	80 

3. 	96 	 4. 	85 

5. If sum 	of squares 	of zeros 	of a 	quadratic 
, 

polynomial g(y)= y-  - oy + p is 10. What 

will be the value ofp. 
1. 	13 	 2. 	12 
3. 	11 	 4. 	10 

. T-ft two. 	, 	g(y)  = 1)2 ____ 6y+ p  

-qff1-4 	0 4 11 	.11 4 1 	10 	.6).  cIT 	P 	01 	41I-1 

ctql 	III I? 
I. 	13 	 2. 	12 
3. 	11 	 4. 	10 

6. A train cross a pole is 12 seconds. If the speed 
or the train is 54 km/hr then length of train will 
be 

	

1. 	648 meter 	 2. 	150 meter 

	

3. 	180 meter 	 4. 	100 meter 

6. °t-) 	c.,1 +4 	c.t.) 	•_q 44 	c1-)) 	12 	tl---tr 	# 	LIH 

Th7t t, efft 	(-rvI41 4-  z4lcff 54{45410 Vic 

"Ekf *, 	c11 	c,1 411.1  
1  1. 	648O 	 2. 	150#0  

3. 	180- -tit 	 4. 	100 -41.0 

7. If the sum of the digits of a two digit 	number is 
9 and the difference between the number and 
that formed by reversing, the di$2,its is 45 then 
number is 
1. 	81 	 2. 	72 
3. 	45 	 4. 	54 

7. zfft t-  3t--1 ,c6-) 	Bch 	,;-kszil 	3fTh-/E TT 	.11+1 

9 	t I 	tli . 	\-1 	‘-k.-q-11 -2,TT 	'3 	34-4 	01 

.-24-r9. 	LM-k-N 	GI qe,i4 t vrtf 	, -1&4r 	cbt 	3T 

45 	.). 	(1) 	s4-kszil 	c1)I 	411-1 	6) 4111 

1. 	81 	 2. 	72 

3. 	45 	 - 	4. 	54 

8. How many numbers between 10 and 90 are 
divisible by 8 completely 

	

1. 	12 	 2. 	10 

	

3. 	11' 	 4. 	8 

8. 10 q 90 	t (12,c1 ic "---d-t .W.-q-11 	t 	' 
f1 -o- -3)-Tir 

	

1. 	12 	 2. 	10 

	

3. 	11 	 4. 	8 

Page 2 of 30 

S/28 NTS/1 6-X-1 B 



3 = x + 1 

Is 

4x2  
' x4 +1 

3. 1 

2 

Value 01.x• will be 

14 

19 
15 

19 

3 

17 

19 
41 

4. -i-r)  

3=x+  1  

1+ 1 
9. 

x +1 x -1 2x 2 
10. Simplify - + 

x -1 x+122  4. 1 

• 

I x4 4.  1 	 2.
x2 , 	x- 4

.   

4x2  + 2 
3. 1 	 4. 

x4  -1  

2. 

11 	Vinod has some cows and some hens in his 
shed. The total number of legs is 92 and total 
number of heads is 29. Then the number of hens 
in his shed is 
I. 14 
	

2. 12 
3. 17 	 4. 21 

11. f49)-q 	cgt§ Trrtt 	72ZT 

1 11* 	ctri 	,i1 	r 92 cT2.11.  Rit 

Th°1. 	29 t I ff4 ci 	1 	rft 	*kcAl 	I 

tilt 
I. 14 	 2. 12 
3. 17 	 4. 21 

12. 	Nll) can row 16km downstream and 8km 

upstream in 6 hours. He can row 6km upstream 

and 24km downstream in 6 hours. Find the 

speed of l'arth in still water. 

1. 5km/hr 	2. 3km/hr 

3. 6kulltr 	4. 8km/hr 

12. TT' cf 'qcil 14 TT 	16 	0 MT1 

URI Mi ftl-trff fon-  8 f" 0 f'-t 9T 

m--1-  6 t.0 tic (Timor) t I w 6 f --to 
-9-41 

 
mr).  tuRT 	f'4-crt-ff 74 24 ft to 

Th't f,t7ri 	t -nu Th-l•a M WiTr 6 tie 

&T (*cididi) t 

ThL)' 'HO 	Y1Ic1 urF 	tefti 
1. 5 ft torneT 
2. 3 ft tO/EteT 
3. 6 f tro/r 
4. 8 ft totztur 

13. Value of / log 75 - 2 loglog 32 -
5 

+ is 
16 	9 	2431 

I. 	lo$2, 3 	 2. 	2 log2 
3. 	log 5 	 4. 	log 2 

14. Find the angle between the two hands of a clock 
at 15 minutes past 4 O'clock (Minute hand and 
hour hand) 
I. 35.5° 2. 30° 
3. 37.5' 4. 32,5° 

75 
13. c log 
 

16
-21og-5 + log-32 ) 	Trrff t 

9 	243 
1. log3 
	

2. 2 log2 

3. log  5 
	

4. log2 

14. 4 	15 .149Z. 	tit i tqf TOZII 

	

otn 7,tur c1 	III PfTe 	Et8' -41-4t 

-4-ztrd) 
I. 35.5° 	 2. 30° 

3. 37,5° 	 4. 32.5° 
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15. If 3.6 + x/125 =17.88 then what will be the 

value of V80 +6.NR 

	

1. 	22.35 	2. 	21.66 

	

3. 	20.12 	4. 	20.46 

15. TTf .  3[5- A- Vi25 =17.88 er tV80+6/5-  
179. 	'4 1I 	iti? 

	

1. 	22.35 	2. 	21.66 

	

3. 	20.12 	4. 	20.46  

16. 

• 

The traffic signals at four road crossing change 
every 30 second, 1 minute, 45 seconds and 75 
seconds 	respectively. 	If 	they 	change 
simultaneously at 9:AM, at what time will they 
change simultaneously again. 

16.  -(1K 	,41(f) 	* 	-c-11 	TR 	tf-%-- 	ftiT9-6. 	30 
31W/3, pct,  f49Z, 45 A"---17- 	.4 75 t)Th-v- 	-44 

t I TA .4is  Tii21-  9:00 sP 4-M: 	ENcic) 
tO6 	4A d)-  --1--4rTr ft-d4 	ok,) 	*Ots01 

I. 	9:12 AM 	 2. 	9:15 AM Oqe) 4)? 
3. 	9:20 AM 	 4. 	9:30 AM I. 	9:12 AM 	 2. 	9:15 AM 

3. 	9:20 AM 	 4. 	9:30 AM 

17.  If A:B = 2:3, B:C = 2:4 and C:D = 2:5 then A:D 
is equal to 

17. Tn.  A:B = 2:3, B:C = 2:4 .d.241.  C:D = 2:5 th.  
A:D 6) 411? 

1. 	2:15 	 2. 	2:5 1. 	2:15 	 2. 	2:5 
3. 	1:5 	 3. 	3:5 3. 	1:5 	 3. 	3:5 

18. In the adjoining figure, ABCD is a square of 18. fkt 	,N)- 	,(-ici,-, l'-- 	-4, ABCD c.1-) 7cm 'IpT 

7cm side length. of a circle of t .ff2TT 	BD BD is an arc c11(11 	cl-) 	c1 41 lc-ci 	4 	tnq 
1-"t1(6) 	ft-v-TIT AB 	.. 	fl 4-11-1 	* .2.41.  Uk.r1 I cl 

radius AB what is the area of the shaded region. 
"ITITT WI &kTzb---6.  6) 4111 

	

1. 	28cm2 	C 

	

2. 	35cm2  

. 	, orr ", B 1. 28cm - 	C 

2. 35cm- 

, 10"-  B 

3. 21cm-, 3. 

-40011V 

21cm2  _. 

4. 14cm2 	D A 4. 	14cm2 	D A 

19. Width of a room is half of its height and height 19. t c.t.) Th-* c 	-El 	4 k3;-cii 	(6) 341t t 	q-i 

of room is 	times of its length. If cost of 
2 t I Trft 1 P 	 TR 3/ k3';-(11, 	4 	4A-1I 

/ 2 
flooring carpet on floor at the rate of Rs. 4/m-,  is 4 TEft q-f4 col iit-d- 	ftwm .R").  c') ftu44 
Rs. 432 then what will be height of room. 
I. 	18m 	 2. 	20m 

Th-T 	432 Tuft 	-6)., 	t 	M-4=1 - 	4 	ST-II 

3. 	12m 	 4. 	15m  
1. 	18-0 	 2. 	20 -4t0 
3. 	12 AO 	 4. 15 tO 

20. Which number in the following_ will completely 20. 3'6  + 317  ef 10 1)4--f 4 	cl.;),-( 	A 	,t-k...0-11 	3'5  + 
divide 315 + 316 + 317. c1N6 itTE 	cf) 	TiThtt t? 
1. 	II 	 2. 	14 1. 	11 	 2. 	14 
3. 	13 	 4. 	17 3. 	13 4. 17 

21. What will 	be the difference between simple 21. 6000w tH 5% c6) ?,-7 	.34 2 Tzi qiiii-- 	-ails 
interest and compound interest on sum of Rs. . --q-% wrq- -4 3-i-urTur wr--  A-  f --dffr 
6000 in 2 years at the rate of interest of 5% p.a. 
I. 	Rs. 15 	 2. 	Rs. 20 

3T ----R 6) 411? 

3. 	Rs. 30 	 4. 	Rs. 10 1. 	15. 	 2. 	20  
3. 	30. 	 4. 	10 

22. Value of (3.5 3  - 2.5 3  is 22. (3.5)3  - (2.5Y chi 	4-II-1 	6) 4111 
I. 	25.27 	 2. 	29.25  1. 	25.27 	 2. 	29.25 
3. 	27.25 	 4. 	25.29 3. 	27.25 	 4. 	25.29 

Page 4 of 30 



23. If V13 - x\ii.6 = -,/8 + ,\R-, then what is the 

value ofx? 
I. 	-2 	 2. 	-5 
3. 	-6 	 4. 	-4 

23. zift 	A/13 - x-‘55 = 18 +j, 	k-ki 	x 	., 
-1I'1 	)411 	I 
1. 	-2 	 2. 	-5 
3. 	-6 	 4. 	-4 

24. In the adjoining figure. AABC is circumscribing 
a circle. Then the length of BC is 

A 
1. 10cm 	 3 cm* 

2. 7cm 	 N 	
9cm 

3. 9cm 	 4 cm 104AA 4. Scin 

24. F'4-- 	4 H) 	fl.(1 4 -1 	ft--1 4, 	AABC 	314T-d- 

-a-w4 (1, 	qc-ci 	* 1 	ci 	BC 	- .1K.qu. 	4 
)411-  I 

A 
1. 10cm 	 3 cm 

2. 7cm 	 N 	
9cm 

3. 9cm 	 4 cm 

4. 8cm 
, 

B 	L 	C 
25. The selling price of 5 articles is the same as the 

cost price of 3 article. The gain or loss percent is 

	

1. 	25% gain 	 2. 	25% gain 

	

3. 	40% loss 	 4. 	33.33% loss 

25. 5 	cl't.q3ti. 	-1. 	f4M-71. 	ff-- :1 	3 	cN1311 	c 	M-73( 

ffF:rc, i,fl.k t .th -a-rq zri-  T41 -  Ard-VEd * I 

1. 	20% .-I'l-T 	 2. 	25% *MIT 

3. 	40% -0114 	 4. 	33.33% 

26. If the 	first 	half of the 	English 	alphabet 	is 
reversed 	and so is the 2nd half, then which 
letter is 7th to the right of the 12th letter from 
the left side? 
1. 	S 	 2. 	U 
3. 	R 	 4. 	T 

26. 31-1-R 3iTM clu 4-1101 	v(44,i 30 qui-1 4 
3c -t1 c1) 	ftzrr \IN 3N-  ft-eizi 30 471 4 

1-T1- 	3(..t1 	chi 	it7IT 	viii 	hl 	ot 	30 -R)- 	12 :  

Dui c,q I 	31)7 7-41-' clul WIT 61411? 
1. 	S 	 2. 	U 
3. 	R 	 4. 	T 

'27. If in 	a 	certain 	code 	language 'THREAT' 	is 
written as 'RFITTAE' then how will 'PEARLY' 
be written in that code? 
I. 	YLRAEP 	 2. YLRPAE 
3. AEPYLR 	 4. AEPRYL 

27. 31 41 	f 	cpt 	I-TFIT 	-44 	'THREAT' 	cP) 

'RF1TTAE' 	ili_q1 	kr1101 	* I 	Tr)* 	'PEARLY' c.11) 

cell 1 --€fr wT)-Trr? 

	

1. 	YLRAEP 	 2. YLRPAE 

	

3. 	AEPYLR 	 4. AEPRYL. 

28. What comes in place of question mark '?' 
4, 6. 16.62, 308, ? 
I. 	990 	 2. 	1721 
3. 	698 	 4. 	1846 

28. '?" * -2T1-9.  TR-  cl-q1 31T 	IT? 
4, 6, 16, 62, 308, ? 

	

1. 	990 	 2. 	1721 

	

3. 	698 	 4. 	1846 

29. In a group of five persons Kamal is the tallest 
while Leela is the shortest. Rashi is shorter than 
Kamal but taller than Vinita and Priti. Priti is 
second shortest person in the group. Who is the 
third tallest? 
I. 	Vinita 	 2. 	Rashi 
3. 	Priti 	 4. 	Leela 

• 

29.  L1-4 	cr1W 	Till-6 4 	coi-IM 	t1c1,4) 7rziT t I 
. --q-ft -A-6-1 	flE,N) 	85)er * 1 Tit cp,ici 	t 
utet t r1f+--9-  faftm 3N 11-f - -4 -a-R1)-  t I 
lit Tillg 4 vrtt 	-ii,) 	utet fl 	. t 1 
-&-{i-Rr Ti--4-R-1.  di-ii 	,1q,4-41 	c1719 t? 
1. 	faft-ar 	 2. 	7rft 

3. 	Ilt 	 4. 	AI-M 

30.  Which is the following diagram best depicts the 
relationship 	between 	males, 	Husbands 	and 
Doctors? 

1. 	 -. OP 

3. 	 4. 	CD 

30. -1(1-d' ,f119 14 A-1 	.t11 12-- 	7514, tfft q 

-914c, 711 17-rtT cl-,l 	6ck s)t-1 A TTrcr-d-r *? 

1. @a) 	OP 

3. CM 
	

4. CO 
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Instructions : (for Questions 31-33) 	 I 
• In the venn diagram given below, the square 
represents 	women, 	the 	triangle 	represents 
persons who are in Govt. Service, the 	circle 
represents educated educated persons and the rectangle 
represents persons working 	in private 	sector. 
Each section of the diagram is numbered. Study 
the diagram and answer the following questions. 

Women 

i- 171-  (79.  31 - 33) 
'.-i 	.9-1t-m3ti tt .-ft7 ,1 	31-ftu 	# col 

arl-37 3TTX ct)) 	.-1 -d-i t I 	't-Ncl-A) 	t---tr 14 
ThFI c1-) 	czi 	4).  50) 	, 	id  D-W 	-Tff-d-r t 

---Fr ce-1l14).  cb'1 3N-  311c1 fk-AI &-4-.  A m cl.) 
" ,-1 cr1 +1 .  cf) 	Tc-rr--d-r t 1 	31I4 * t7 a4-.  

ct-)) 	3-ift-d-  ft-Tr 	4 H-11 	t I 	*sZ-I 	.f 	cm 	3TW?:1-9- 
cl-) 	3N-  ilqi-  vca't 	\J-ci 

TT1-6-o 
4 Educated 

Persons 

\ 	Persons in 
13 	Govt. 

Service 
+  HZ,51 

'i-q- itRi-  13 	twtt if 

2 
coizs<ct 	1)rr 

1111WARMAIII  
8 	1 9 

11 12 
11 

14- 	Persons in Private Sector 

1-4" 1 -11-  e-)-0i TT 	is0),1 

31. 	Which number represents educated women, who 
are in Govt. Job? 
1. 	2 	 2. 	3 
3. 	4 	 4. 	6 

31. 	Th-1-9-t 	, -i5.),.41 	QTR 	Trit-FT31): 	c.t))(711-61- 	t 

-4) W 	't1Nc1--A *Wt.{ 14 Wrzi.7ff g? 
1. 	2 	 2. 	3 
3. 	4 	 4. 	6 

32. 	Which 	number 	represents 	the 	uneducated 
women, who have Govt. Jobs as well as jobs in 
private sectors? tfi 
1. 	6 	 2. 	4 
3. 	12 	 4. 	9 

32. ce)-k11 	31--  i 	3.0-r1 -d-  TritTITA 0-.))u-1--d-i 
t 	--4) 	s --Ncla 	.-1)(t)) 	3-fR 	Th. iil. 	F,)--;A- 	1,-i'i 	it 

-c -P--1 'M t? 
1. 	6 	 2. 	4 
3. 	12 	 4. 	9 

33. Which number represent educated men having 
private jobs as well as govt. jobs? 

	

1. 	7 	 2. 	8 

	

3. 	6 	 4. 	10 

33. 	ci; -N-11 	31T 	\i'l 	ItIl d" 	a-74T 	(Pi 	-TF1--di 	t 
vi) 	.:1-TFZTt t-a;tr 14 cb-14-Ti.  g I 
1. 	7 	 2. 	8 
3. 	6 	 4. 	10 

34. 	Which is the smallest number? 

i. 	-7÷7x7+7 

2. (7+7x7)÷7 - 7 

3. 7-7x7+7+7 

4. 7-(7±7X7+7) 
 

34. 	.V.TZ1-t-t f_51th 	' -i':s.41- 	c1-1.-1411 t-I 

1. -7±7x7+7 

2. (7+7x7)5-7-7 

3. 7-7x7±7+7 

- 4. 	7-(74-7x7+7) 

35. 	In the given 	figure, 	how 	many triangles are 35. 	3- 	-74 1 --d--  Rp-j-7 t 1 

2. 16 

3. 18 

4. , 

Nvidir 

there'? 

1. 26 
2. 16 
3. 18 
4. 19 

1. 	26  

 19  
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T 9 :2:: - : 
H 

37.  

3. 3 4. 4 

38. 15 50 	10 

4 
I. 140 
3. 500 

10 
2. 220 
4. 320 

37. 
T • 2

•  
: ? 

H 

3 
1. 

7 
3. 3 4. 4 

38 15 7 50 I0 

4 10 
1. 140 2. 220 
3. 500 4. 320 

39. M 	q1(1.  4t2fr 

1. B 
	

2. T 

3. J 
	

4. M 

40. T 	V1N1 	 t 
1. F 
	

2. M 
3. P 
	

4. J 

41. R 	Of 	F 4)1 	093:TT t,  I 
(A) qtb; 	AIR171- 

(B) qlq 

(C) ‹iq 

	

1. 	ccle-1 A 

	

3. 	ccic-I C 

2. cc.4 T B 

4. 411 A 3N B 

36. 	Choose the correct mirror image of the given 

figure from the alternatives: 

DL8CAN7952 

I. (.2 5 Q 714A -D8-ID 
2.?". QVNAC8JCI 
3. 	714AD8,1(1 

-4. S. 7.-.QVNAC8 LCI 

36. 	I 	3T1 	I 	u UfqiOf4-1,4 	Trc 

fct,e4-1I 	1-11 
DL8CAN7952 

1. 5:5 Q 714.AD8ID 

2. S7: ?..Q TNACLICE • 
3. L.. 	71/1AD 8,1(1 

4. E T(Q7NAC8LG 

Instruction (Questions 39 - 41) 
Read the following information carefully and 

answer the quesions given below : 
M, P, J, B, R, T and F are sitting around a circle facing 
the centre. B is the third to the left of J who is second 

to the left of M. P is third to the left of B and second to 
the right of R. T is not an immediate neighbour of M. 

39. 	Who is fourth to the right of M. 
1. B 	 2. T 
3. J 	 4. M 

40 	Who is second to the left of T. 
I. F 
3. P 	 4. J 

41. 	What is F's position with respect to R. 
(A) Third to the left 
(B) Fourth to the right 
(C) Third to the right 
I. Only A 
	

2. Only B 
3. Only C 
	

4. Both A and B  

(9179.  39 - 41) 

3f

ted:c 

	

Trq.  crvt 	.3-cv triA- 

M, P, J, B, R, T 3f 	F 	3I)-R' 	ct- cIN.) 

I B, J 	11(1  tR-171. M 
tillt. 	1"I 	P. B 	co -61-Ti-Tr t 	R 

q1(1. 	 T, m-ftw-d---dA 	 t I 

42. 	A man is lacing north west. If he turns 90° in the 
clockwise direction and then 135° in the 
anticlockwise direction. Which direction is he 
lacing now? 
1. East 	 2. West 
3. North 	 4. South  

42. 	vafercbI ig \3vH-trft- T 	t I TIR 

(15 4T1174 FOTT A 90° IT * 13117 (-1(1 15 

--%131.744 f rr 	135° 'TIM t i 31-& \31 

f 	f4-zrr A 61m? 

1. 	tO 	 2. 	ITf -r-1 41 

3. 	\ -c-1 	 4. 	-4.%1IT 
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43. 	If in a certain language 'how can you go' is 

written as '4e de ke Pe' , 'you come here' is  

written as 'ne ke se' and 'come and go' as 're pe 

se', 	then 	how 	will 	'here' 	be 	written 	in 	the 

language? 

I. 	Je 	 2. 	pe 

3. 	me 	 4. 	ke 

43. 	R),zit dial 4 'how can you go' ct) 	'Je de ke Pe' 

-17§11.  

	

41M 'you come here' cl,) 	'ne ke se' 3117 

'come and go' 	ch) 	're pe se' c-1) 	'here' &t 	ctql 

hi 	-r4-Trr 1 

1 I. 	Je 	 2. 	pe  
3. 	me 	 4. 	ke 

44. 44. 
4 5 6 4 5 6 

2 3 7 2 3 7 

1 8 3 1 8 3 
. 

21 98 ? 21 98 ? 

	

1. 	85 	 2. 	94 

	

3. 	49 	 4. 	104 

	

1. 	85 	 2. 	94 

	

3. 	49 	 4. 	.104 

45. 	A's mother is sister of 'B' and daughter of 'C'. 'D' 
is 	he daughter of B and sister of E. How is 'C' 
related to E. 
I. 	Sister 
2. Mother 
3. Father 
4. Grand mother or Grand father. 

45. 	A 4 1:11-ffi B -4)1" T.1 * 3i17 C 	541 t 1 
D, B 4 Vi * E 4 ,46-i t I C, E 34 4)) 
3TRATff *? 

1. 	(46-1 	 2. 	1-11c-il 

3. 	'ird-1. 	 4. 	qlql 	TIT 	-1--'1 

46. 	In a certain code 
P stands for + 

Q stands for - 

R stands for x 

S stands for + 

Then number corresponding to 
6128S1R3Q5P7Q4P2 is 
1. 	144 	 2. 	148 
3. 	146 4. 	116 ' 

46. 	zift f4Rft iZ 14 

p q-q 310 + 

Q zb-T 310 - 

R Th-f 310 x 

S wr 3121 ± 

c1€1 6R8S1R3Q5P7Q4P2 c 	*i41c1 •-k_..q41 #1 
1. 	144 	 2. 	148 
3. 	146 	 4. 	116 

47. 	If the first and third digits of each number are 
inter changed and one is added to the second 
digit 	of each 	number, 	then 	which 	of 	the 
following pairs of numbers, will have highest 
total of theri numerical value? 
I. 	946 and 728 	 2. 	728 and 574 

3. 	669 and 946 	 4. 	669 and 629 

47. 	..11 t Tr4 -R-4-coz31' 4 c12-11:1 3117 erzi 3i-- 

.-r7 c0) &FRI-  4 -q---o.  ftzrr 	3itR.  i,,41 -  3i-- 	14 
'I' vi) 5T kr1 N 	c11 	01.-1 34 71:1 (4)1 

Nfl G  4 3ii 	6) 4  11? 

1. 	946 3N 728 	2. 	728 3117 574 

3. 	669 3t17 946 	4. 	669 3ft7 629 

48. 	Looking into a mirror, the clock shows 9:30 as 

the time. The actual time is 

1. 	2:30 	 2. 	3:30 

3. 	4:30 	 4. 	6:30 

48. 	1' 	ifi 	yct)VIA. 	4 	• 	, 	.11.) 	clicil 	7{Pfzi 
9:30 	el u) 	t I 	\3 st-I 	.R-1 410 	ciNcl 	ct) 	'-14-1e4 	ctL11 

411? 
 

	

1. 	2:30 	 2. 	3:30 

	

3. 	4:30 	 4. 	6:30 
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49. 	The sheet of paper shown in the figure is folded 
to form a box. Choose the correct alternative. 
Which 	will 	truely 	represent 	the 	position 	of 
alphabets A to F shown in the following figure 

49. 	-1 -  14 	Ti'f‹-E 	Trq. 	opkyi 	* 	Sct) 	c > 1c1) 
ct) 	c1') 	f' -r 	cfrimr 	,NI I 	.i•-t 	ftTvcf 	(1)) 
F35rei kil) fti----  ER AA. F gull c 	fj c 
711-3Tei qdc-II t? 

A A 
C C 
D B D B 

E E 
F 1' 

A A 
I. E  2. C I. E 0 2. C 

B 
3. E 4. F 0 3. E 0 4. F 

50. 	Select 

space, 
Problem 

alternatives 
the 

would 
Figure 

figure 	from 	amongst 	the 	four 
which when placed 	in the blank 
complete the pattern. 

50. 	i47 7T7 1cbrA-1): .4 t 	it. 	cp') 'Ste).  FR.)-  

ft-01 	.P41-9* 	lei 	1-4 	Pattern 	1-0 	.). 	u1101 
t I 
•di-W-41 

. 
(,— 414 

‘
frr 

I.  
FA II 
me 2. N.  

I. 2. N.  

3.
gm.  iiire 

fill 
. 	 

3. 4. 
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Language Test (02 - B) 

ENGLISH 

(QUESTION NO. 51 - 100) 

Direction : Choose the word that is opposite in 
meaning to the given words in question Nos. 
51-56. 

60. 	Judicious 
1. 	Prudent 	 2. 	ardent 
3. 	furious 	 4. 	curious 

51. 	Collision 
1. 	Compassion 	2. 	Agreement 
3. 	Perfection 	 4. 	Conflict 

61. 	Inquisitive 
1. 	beautiful 	 2. 	curious 
3. 	Impulsive 	 4. 	modest 

52. 	Grudge 
1 	hatred 	 2. 	modest 
3. 	eternal 	 4. 	affection 

62. 	Spurious 
1. 	serious 	 2. 	Original 
3. 	anxious 	 4. 	fake 

53 	Insolvent 
1. 	irrational 	 2. 	'alluring 
3. 	affluent 	 4. 	defaulter 

Direction : In question Nos. 63-68, Choose the 
alternative which expresses the meaning of the 
given idioms / phrases. 

54. 	Scanty 
1. 	Lavish 	 2. 	skillful 
3. 	dirty 	 4. 	Insufficient 

63. 	Once in a blue moon.  
1. 	Every month 	2. always 
3. 	rarely 	 4. after mid night 

55. 	Destitute 
1. 	Impoverished 	2. 	Lacking 
3. 	rich 	 4. 	needy 

64. 	Keep body and soul together 
1. To be free from disease. 
2. To maintain !ife. 
3. To have fun in life. 
4. To live in a joint family. 

56. 	Vanity 	 65. 	Sweat of the brow 
1. 	pride 	 2. 	modesty 	 1. 	Sweating from head to foot 
3. 	arrogance 	 4. 	variety 	 2. 	Sweat runs down the brow  

3. hard labour 
4. sweat on the forehead. 

Direction : 	In question Nos. 57-62, Out of four 

alternatives, 	choose 	the 	one 	which 	best 

expresses the meaning of the given word.  

, 

66. 	A snake in the grass. 
1 	Green coloured snake. 

 
. 

2. Snake hiding in grass. 
3. Snake lying eggs in grass. 
4. A secret foe. 

57. 	Emphatic 

1. 	hesitant 	 2. 	extinct 

3. 	gigantic 	 4. 	definite 

67. 	Come under the hammer 
1. to be sold by an auctioner. 
2. to join 
3. to beat with hammer 
4. to break. 

58. 	Compatible 

1. 	liable 	 2. 	viable 

3. 	eligible 	 4. 	consistent 

68. 	Slip of the tongue 
1. to talk nonsense 

 
2. to stammer 
3. an error of speech 
4. to abuse 

59. 	Pandemonium 

1 	A kind of harmonium 	2. Repercussion 

3. 	Chaos 	 4. Symposium 

Direction : In question Nos. 69-74, sentences are 
given with 	blanks to be filled with appropriate 
word out of four alternatives given : 

J 
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69. 	I am sorry I cannot comply 79. 	They 	 (wait) for the train for two 
your wishes. 

	

1. 	with 	 2. 	by 

	

3. 	at 	 4. 	for 

hours when I reached the station. 
1. were waiting. 
2. had been waiting 
3. have been waiting 
4. are waitin. 

70. 	I am vexed 	 his silence. 80. 	She 	 (not write) to me since she 

	

1. 	about 	 2. 	for 

	

3. 	by 	 4. 	at 
went abroad. 

	

1. 	did not write 	2. had not written 

	

3. 	will not have written. 	4. 	has not written 

71. 	He fell a victim 	 his own avarice. Direction : 	In question 	Nos. 	81 	- 85, 	read the 
passage and choose the correct answer from the 
given options : 

Sariska 	National 	Park 	is 	a 	wildlife 
sanctuary, located at a distance of 107 km from 
Jaipur. The park possesses historical monuments 
and 	temples, 	which 	defect the 	legacy of the 
Maharajas of Alwar. 	The park is biggar than 
Ranthambore 	but 	has 	a 	similar 	topography. 
Though this sanctuary does not have many tigers 
yet many 	wild animals dwell on the grounds of 
this 	park. 	Apart 	from 	other 	carnivores 	and 
herbivores, you can also trace Rhesus monkeys, 
which can usually be seen playing tricks upon 
one another around the Tad Vriksh (Palm tree) 
The park also shelters many different species of 
birds including Bush Quails, Sand Grouses, Tree 
Pies, Golden Backed Woodpeckers etc. Animal  
lovers would definitely love this place, as it will 
offer them some of the best scenes to remember. 
The 	best 	place 	to 	spot 	wildlife 	is 	at 	the 
waterholes where animals come to satisfy their 
thirst. You can trace hundreds of birds at the 
Kalighati waterhole and Nilgai can be spotted at 
Salupka waterhole. 

	

1. 	by 	 2. 	to 

	

3. 	of 	 4. 	with 

72. 	We should abide 	 the laws of 
our country. 

	

1. 	with 	 2. 	in 

	

3. 	by 	 4. 	to 

73. 	You will have to answer 	 your 
misdeed. 

	

1. 	for 	 2. 	with 

	

3. 	of 	 4. 	to 

74. 	Parents should not be blind 
the fault of their children. 

	

1. 	for 	 2. 	in 

	

3. 	to 	 4. 	with 
Direction : Choose the correct alternative of the 
verbs given in brackets from question nos. 75-80 

75. 	The baby 	 (cry) since morning. 
1. has crying 
2. is crying 
3. cried 
4. has been crying 

76. 	When I reached home, my sister 81. 	In 	the 	Sariska 	National 	Park, 	there 	are 
(cook) the food. 
1. has been cooking 
2. was cooking 
3. is cooking 
4. had cooked. 

1. only herbivores 
2. only carnivores 
3. both carnivores and herbivores 
4. no carnivores or herbivores 

77. 	The 	farmers 	 (plough) 	their 82. 	The Sariska National Park is not far from 
1. Jodhpur 
2. Raipur 
3. Mewar 
4. Jaipur 

fields before the rainy season sets in. 
1. have ploughed 
2. had ploughed 
3. will have ploughed 
4. ploughed 

78. 	I 	 (not 	refuse) 	him 	anything till 83. 	The Park possesses 
1. ramparts and monuments 
2. monuments and temples 
3. temples and ramparts 
4. monuments and forts 

yesterday. 
1. had not refused 
2. did not refuse 
3. have not refused 
4. not refused 
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84. 	Animals come to satisfy their thirst at a 
1. 	Borehole 	 2. 	deepwell 
3. 	waterhole 	 4. 	borewell 

93. 

	

1. 	Gyneacology 	2. 	Gyniecology 

	

3. 	Gynaecology 	4. 	Ginicology 

85. 	The Sand Grouse is a species of 
1. 	birds 	 2. 	plants 
3. 	animals 	 4. 	trees 

94. 

	

1. 	Spontaneous 	2. 	Spantaneous 

	

3. 	Spuntaneous 	4. 	Sponteneous 

86. 	One who looks at the dark side of life. 
1. 	optimist 	 2. 	Pacifist 
3. 	pessimist 	 4. 	Sadist 

95. 

	

1. 	Banevolence 	2. 	Benivolence 

	

3. 	benevolance 	4. 	benevolence 

87. 	One who has a long experience of any 
occupation. 
1. 	Stoic 	 2. 	Novice 
3. 	Veteran 	 4. 	Mesologist 

Direction 	: 	In 	question 	Nos. 	96-100, 	find 	the 
correct passive construction. 

88. 	To become strong again after illness 

1. recuperate 

2. toxify 

3. recrimination 

4. exhaust 

96. 	The enemy has captured the city. 
1. The enemy has captured the city 
2. The city has been captured by the 

enemy 
3. The city captured by the enemy 
4. The city was been captured by the 

enemy 

89. 	Official in-charge of a museum / art gallery 
1. artist 
2. excavator 
3. caretaker 
4. curator 

97. 	I kept him waiting. 
1. He kept me waiting. 
2. I was kept waiting by him. 
3. He was kept waiting by me. 
4. he has been kept waiting by me. 

90. 	Rise in prices 
1. inflammation 
2. Inflation 
3. Infiltration 
4. inflection 

98. 	Who composed this piece of composition 
1. By whom was this piece of composition 

composed? 
2. Who is being composed this piece of 

composition? 
3. By whom has this piece of composition 

been composed?  
4. By whom this piece of composition was 

written? 

Direction 	: 	In 	question 	91-95, 	choose 	the 
alternative with correct spellings: 

91. 

	

1. 	Catastrophe 	2. 	Catastrophi 

	

3. 	Catastrofy 	 4. 	Catestrophy 

99. 	Bring me a pen. 
1. Please bring me a pen. 
2. Let a pen brought to me. 
3. Let a pen be brought to me. 
4. Let a pen to bring to me. 

92. 

	

1. 	Redical 	 2. 	Radical 

	

3. 	Radicle 	 4. 	redicle 

100. 	Have you repaired the road? 
1. Have the road repaired by you? 
2. Has the road been repaired by you? 
3. Has the road repaired by you? 
4. Was the road repaired by you? 
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IITETT 031-a.  t-i*NiT (02 - 3T) 

f8- 1 
51 - 100) 

51. 34.-d7  -2T ci-1U1-1 47 \3q16.0-'1 g : 

	

1. 	q 	 2. 	9 

	

3. 	c f 	 4. 	tf 

60."P'11a---i-T tiff!' &1 cb6f until g - 

1. coco-r wr ftirrrtt 

2. 4N-i0 c111 WV 

3. cbc14-1 TT .1=M7 

4. Tc-14-1 TT 	TTIT.q 

52. 61. 'f Y1'r=4 TTT-0:R1 t - f*-11W6ci # 3-).  ittliT4' "q1-.  TT ff(9)11 

	

1. 	311-iq 	 2. 	3TEA) 

	

3. 	.RJR.rff-d. 	 4. 	71.  
6) 411- 

1. 	31-A#1-4 	 2. 	ftliT4 

3. 	3TTIT4 	 4. 	WTT4 

53. 62. .1f" TT 74.421741 	1,E4 6 411 - 

• 

r*--11R.V1 if t 4161111u1 c4Q-1-1 t - 

	

1. 	Z 	 2. 	7 

	

3. 	Tff 	 4. 
1. 	64 	 2. 	c1 4 1 

3. 	fa-61T 	 4. 	i97 

54. 63. 'th-11# w -  TT T414 f0....4q.  ZYTTI - 

	

1. 	f . + 7r1 	 2. 	f4 4- Tiff 

	

3. 	i:4 + TIT 	 4. 	fati 4- 7{ 

Iti7 t 	Th-.R.  t). 	Oct?' 	4.  ic,f) V1.-.  4 061 

Q11c11 t - 

1. 	3TETNiT4 	 2. 	3Tf'e- 9 

3. 	N 	..q1 	 4. 	31141q 4-Itt-10 

55. 64. 414 	1937 	4 	it-ii 	• -ligNct)k 	TT t-6.14Hill 

-pir? 
Y.1qtT 	d41 clleil VT .  1F47 - 
1. T4 
2. aaf 

3. fafT 

4. aft 

1. Ti--4-wtff fturrth 	f4R-r-o-r 
2. 31aZI 

3. v-141ct) 	ITUT4 

4. cbqH-1124 37)--4M' 

56. 65. 'c1 6f1YicM 	7RT1T4 	TT" 	tif .TT 	c1161 	T) 'T1.-"dt.) lit11414t 	cific4cpra T 	-r-.I c11 g - 
1T1 	? 1. -11411\31-1 
1. 	11z11 4 1 	 2. 	TT917 2. cb4N-1124 311.141 
3. eV.q-k.i) 	 4. 	k3-1GleiV 3. 	•avv5T 

4. f;'17TFT 

57. 66. 77.4df 7ftT2T1 \i4-4111 	•fl 	-1-11 t? (4\11-1 7114 '24' t - 
1. 	(04-1ccH 	 2. 	4-1 -̂k 7trtt 1. 	Ct;CV.4 	c2f\r1-1 	 2. 	4c4 c4v1-1 
3. 	tIluNc1-112TL'I' 	4. 	'licie-.T *tat 3. 	31d7-P-T c4u1-1 	4. 	iR:f c4 ‘51-f 

58. 67. fkce'rliticT 1) .i4 14 4 0c11q T Tt4 *? 

1. 	3raz1 
d6el Gluilll WO TT 3T2f' t - 

1. 	MO TT-q.Ri cp 	I 
'f 2. 	TiTiU fitlt). 	IT' 2. •r49crIlk 	cl-P-11 

3. T4R-112.T 3T74Ta' 3. 	•<)c11 	4).0-11 

4. 	itql\if 4. 	clIq441 	clu11-11 

59. 68. -11-11-1 0 	'T('-(bN 	i) 	.-1 4-4-1A0 	' -c1.-11c1-)N 	g- ) 	110" 	4 4 4 	tr 	cig) 	11.179T 	8)cf) 
1. g- itf 1.1,H1q feu--d1 ,Ni14)ki 7-4 	fm 	') 	1(4 6)411 - 
2. \3141c1-) 	77ifq 1. 	cic4‘414-4-10 	 2. 	51t0c4 
3. 3T-t4 3. 	cto 	 4. 	531.2T 

4. ITT 54'1r1 
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69. 78. ft-4Tzi 	TT 	ff4 - ff---4-  6),  1 1 - 
1. 	fcf, + 1T4 

Zig 	6 	3t7 TIT' 4 	41c1. 	-14141-1 	TT 
310 #- 

2. i'l + 1:14 
3. 17=1 + 911-4 
4. .1- : 	+ 	TrZT 

1. 7-4- 	f 	T 41(4 T4';IT I 
2. fcl•-il 	R-R 	lt)- 	TT 	crlii-f 	cr)•:•-ii I 
3. 414-41c-11 0 3T-14T cr171 c'n•<-1' TT Tq,C,T 
4. (NEIN .04 v11.-T ER t 3ItaTR 4M •6--11 I 

70. 79. -g-art f•)-1-Tift•litRT 4 t 44-14-11i4 TT 	i<I6•07T 

1. 	WM-ft 	 2. 	3TEET.TTg 

'ft' ciff ftATI  

1. 	01N 	 2. 	311c-1 ch 

3. 	-11315Llift 	 4. 	7T1R-c1c4) 3. 	1/43-i4 1 4i 	 4. 	3141:  

71. 

L 

73. 

80. 

. 

'ti,v 1117ft 3TR1:-  IT k3t-I-1t1 .1 -1.1 Tf4 TT g? '3f47-4-itid 	g _ VII 	Teti 	M0 	T-r. 	itir.  
1. 1TH.T•-lclIc-f 	g-4--d't ,-i!,i'r 	tiRlf4)--a ttfk.--f 11 31c,iok tt - 
2. 	tq1R4T24 31,,icir 1. 	4tich 	 2. 
3.,----0)-i 	cic-iic 3. 	<4-)Lict) 	 4. 	311WFT4f47 
4. 	-iji-P1-,II-lq•-f r-iU 

81. 72.i‘W;GlIZ-4-cf 14 	T Ti-•-1-ITT 'q'T 31z-TfiFTR t ? T-11F4T-4-411C-1 71409T T--4 0 WV (ATI T 
1. 	:iFjcTRI 	 2. 	479-  (-11q0-3 T4? 

1...11-1-zjiT 	 2. 	#T1' 
3. 	TiteN 	 4. 	LTZFIT 

3. 	W:14 	 4. 	\.1t-14-If 

82. Pir-•Ifc•TftTcl 2'  0 r.t; •-f-0T 3rEtRi cztv-h-f g? 
1. 	TT 	 2. 	4 
3.Cl 	 4. 	-'if 

7iTftT TT #fil-1 	q #TITT? 
1. 	9-1 + fo--   
3. 	+ 311f4T 	4. 	4 +. 

74. 83. '3TN4 ft1-- fctritM.  if 0 	TT IRI141c11-r 	ic.4 
4 b- 
1. 	3p-zrprd 	 2. 	3T117-‘q 

q# 	ft-44-cf 	'-c1111€1. 	TT 	# I 	414•z4 	• 
VrFq Thi ft-arrOl 6),ti - 	• 
1. 	TZ 	 2. 	'-cTSIt 
3. 	3i1'i5 	 4. 	afka 3. 	--167c•I' 	 4. 	t1-4124 

75. 84. '1 -"T1fk-d ' 	t 	c1-144 'Ic•q t - 

3. 	0i1T 	 4. 	Ttp 

'7Tct7 TT IFTt7 .#4-9.1' 	-g#WT TT 	ciictd 
4 

1. TfRj 'R'471-14 TT 6 -11 
2. TR.S4T-4-1 #I7T 
3, 	Ricart-ttri 6‘1-11 
4. 	31cliNc1141 	?171T 

76. 1 191Z11Z-sra 	4) 	0 	3PN 	-cfr011 	4)--T 	--ERR 
ililf 	-- 

85. '31g-ff6TR' 	TT 4410- OT T4 rtd 0 •M-Mzi 
-6sif-11 t - 

1. 	•utzra TT cl•;d •4-IEN) Tigali t I '>1' 1. 	f --4t Wrqui r4--4. 	Wrrsi-d-r ucll-II 
2. 	41-fi . 1 T4 Tilt-Tr MI itT-1•11 1)-- 	t I 2. ffiT3Icr4T5qr 
3. p011TRI 14 R9e-11-l1ch1 f' --Lt I 1)1'1c1' 	cM•Il 
4, t1(7-1f .  4-4-d-4'1 tlI1 	I 3. 	31McPc. 1:1-$f TT clIct4 14 licIld ot-i A 

(-1 1 -11 	 • 
4. 	qt-441 t 3ToTzi We T4 \3k5II 4 N (1).-11 

77. 86. f;•f-P-Iffift-o-  .1,41 1 	-4 4•-f-1T '21(4 f401sfuT 
4? t.. 

Pc19itftfrd 	t 31a1Z-1 T:T 44 ;Tel' t - 
1. fIci 

1. 	f4-610 	 2. 	3M3T-4 2. fPIT feftrinT 
3. 71-ta 	 4. 	Tta'T 3.iiT74-4 44z•TT 

4. ci)lef 
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87. (lel TTPTITIT "Mi 31T-4-41 01 qTfzi 	El  
g - 

1. 	7Tr4-9-0m ftAtfur 

.e79t M-1 .  •Vcpft $ 41--?T WAt Thl 	U It '4-11c(1 
.Q.) Mc)* 41614 # a 	until g clef 	na-) 11-Tit 

14.)-f'd-- 	•(-cNi-,u 	c 	-1 -R-cq---d-r 	- 	14 	01 	t 1 	q)'11 	gt 
2. f4741 f4v)-q-ur 
3. A1:4 11'ul 

'0cl 	--.--g 	-r q--ffc 	* TA fkqtai-- 	t f4, m 
Dc)t-ii 	vies 	11Z-tcto 	,-i,(ik 	,-cicti 	t Tel 	el,-i7 

4. T-01Tfuf Ci Ma) 	qui flaTigr-De)tvii A 1-Trq Qvici 4 AC 141Pdmd-r 

88. 'il1rlits1-c7 # .4 R5g 11& 	4t)' - t7 g? .)---.'-\r--  tr41 	(4)) 	3' 	9T 	61°1 	t I 	ftt  
' 	4-11.1a 	i•cf--11 	cbil 	3P 	(.41c1-) 	\3,d(4; 	3-'fP 1. 	f --cfra 	 2. 	FFEET 

3. 	441-FFT 	 4. 	ITS6d1 31td-fti 	ii4-1-00 	ci-PMI 	g I 	qg 	U2T 	7t 	Affr 
89.  'II-WIT 'WM 6)cli g I ‘3'a .1;:1- 	q-If'dT WO -F;a,i-R.,A-(1  ff-,_ [ 	i ci) 0.1 	Th1,4 it ,t. t_. 

m'r 	\ILIN-FT1 31- 1 	-i 	c1i-1-ret I 	Zig CIT-- c 	# 1. 	5f41171 	 2. 	Oct 
FZr 	Plilfa.ff 0k11 t A f5 fforff -cii.  \3q1tIci51 3. 	q5741-4i 	 4.#1--A. 

90. 4 tl" "{z-cit(r) t I TIft 	1- Llc 9 c.°  ( .40-cir1 I8 `4 	il 	 •M 	-4 	ft-ii 	l's,q 	.cfi1 
cl 	fl 4-.  t 	fffT-d'T 4 31#T 4 I c11 ch1  34:ETP;(f Sill 4 1 	6)clI 	g? 
ct) 	-Icr)1 /4 ,1 	t I 	714it 	c4 A(1-) 	Tliq 	44 	N 4 1 	LT 

	

1. 	ul-101 	 2. 	ViuT 

	

3. 	7-11 	 4. 	3117 fitz 	41!--I 0) 	\ifl,Z) 	334 	(-PM tR 1lct-iNT ‘,1c1c11 g I 
1  -\J RI- rti m-t 	<ffft-d-r 14c-O&I" 3 1 7 - 6 W i t 

91. \3c•viti-f" 71--.  # VRIWf 3749-4 t - 
1. 	K3 	 2. 	\3crs  

96. 	chia M4'1 f4it fUtIcIf 	7. 	- 	alctcl 
itar flea g? 

3. 	3-a 	 4. 	\ic-ci.  1. 	c46 q--& TA-9 A 41Ntr4-,  74 vA-rfo 
A-i17 t 92. 3AcTRIv:11-4)-AWT 	--\11 	c-DE '4)-q "f4),4-10") -Ig) 

}i1.11 	.\-311c11? 2. Uut 4 3efaiT 11791 MUF-1 61c11 t I 
1. 	ft4-1141 	 2. 	tfai 3. \.i,) cicpffi * 7-11tT 42-1T4 Th 	341'6 'TT 
3.q1:4 	 4. 	14V .1ridtg1 31-4t 

4. 45 '44.1ft1M71 	f" --- -.P1-----1 TO Thl 
70--d-r t i  

I 	93. 03)-1 	Ti 	Dwici 	qi-6 	-1--f- 7? q..Qii-4)c-I 	1-1q 
ci;)--f TiT f4tEfur #-.4 t? 
1. 	ITRANicittio 	q 1 97. 	m-f -  gfft A 	1464 31-Tit crp<ci, 	\3,4-ict'; 
2:Ill--4Tz4ct-,  f4t-Efur 
3. 41149Tf#T fall5ful.  

.1-2T 4iIT--ci -4 oc-I I g? 
1. 	#T971 	-c)c1-II 	M- 1 	2. 	7-1-1ff-- 	1 /431 410 	c c't 
3.,,Ti Th-ci 	 4. 	WO 'el 4. ZiZcl.iICII.c4ct) fatlEfuT 

94. 'arffruimr --q 	'9-6 cbi 3T 98. 	'Wft-d-T .V.-1 tq 3iicict) &K11 t- 

	

1. 	tai 	 2. Th-A9 

	

3. 	7FiYe 	 4. rki'zI 
1. 	cam( W-11,101 
2. 	v- tai 31061 

95. ffl--Pif*k-o-  A 	V-Ocircicr,  Fo-).11 ffq)-Efiq TT 3. 	tglicii 	cl-li 

\3GI6 111 g - 	' 3. 	4-1R-clixt) t VI-TOT 	.11 
1. 	c16 cl§cl 2TT IR1I KT 
2. 31E31 q1511 tt 
3. qii -e-TR-  - 72TR .9.d.  u1134 

.V-al-  99. 	af' # Vz1-4ff UEFA *- 

	

1. 	V 	 2. 	q-u, 

	

3. 	Wz7 	 4. 	;fit  4. 	0-1N c‘31 ''ETtf ' 
100. 	-I 	tl. 	cr-fft 	-TT 	f -ta- C i 	tYck 	i 

1 -zr 

*-. 

- cucto ' 	Nif4>c1 YID wr it-oli 	ilf - 
-1- i--iffZqci 31---T4q 	c 	zzi-F 	34 	tioct,  1. 	416-i 	 2. 	2icicc 

f0 TR‘,.1 qT9I (1Wi 'tip -q-I I 96 4R 100 (10)) * 'PTO-  3. 	 4. 	t.Thcruf 
3-c1k V-4-.  R1-45Vc1) # 	.1f4 	- 

a 01• 	3& 	Th-f 	q).-II 	fl' 	c -T- 	MI 
\31-1N-1-ST 4)70 	g 	f' --- 	PT-- 	11-%-----10-[ 	9124 
.311 	-rTr-o-z7 7-Q 	chi'.) 	ci-).) 	Th7 51 z-Ic--1 	ci-r 	g I 
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SCHOLASTIC APTITUDE TEST (SAT) 
*rm-T 	1 aaTT 

(QUESTION NO. 101 - 200) 
(MM-i *i'541 101 - 200) 

101. 	The distances travelled by a body falling 
freely 	from 	rest 	in 	2nd, 	3rd 	and 	5th 
second of its motion are in the ratio. 
1. 	7 : 5 : 3 	 2. 	3 : 5 : 7 
3. 	5 : 3 : 7 	• 	4. 	5 : 7 : 3 

101. ftTFT i)• 	•-cici -;ic-i 1 	iir4t ci*cl 
0q 

: 	5 : 
: 7 : 

TT +I c1 
V-14 	z t-T{ 	ENt tbc t 14 	 

2. 3 
4. 5 

-07:1).  Thi.  

7 
3 

3T-TrM 

	

1. 	7 

	

3. 	5 

t -- 
: 5 : 3 
: 3 : 7 

102. 	Two extremes ends fo a moving train 
(engine and guard coach) pass a pole 
with speeds U and V respectively with a 
constant acceleration. The speed with 
which the 	middle point of the train will 
pass the same pole is 

. +U
2  

1 	
U + V 	

2 	
V2 

. . 

102. cl) 4n91.-1 	t.9. 	i1 3TitTT .017 	(t-A-9* q 
+ii4 	TT 	ft1) 	ct) 	•UIT4 	. 'r 	ct) 	*14-11,1 cr-Nul 

#1 Sri WI t soil 
-ITZT 

n U r V -cud t tiR cmc) 

	

r49-S 	Z-#1 	tZ11: . 	ci")) 	fi-i 	tilef 	t 	trr7 
t - 

	

+ V 	
2 	

V 2  +U 2  
. 

ct) 4 ii, 

U 
1 

') 

Ur 
4. 

\ 

2 2 

UV 
3. 4. 	,‘ 

2 

U2 + V2  U2  + V2  
3. 

2 2 ')  2 

103. 	An 	athlete 	completes 	one 	round 	of 
circular track 	of 	radius 	r in 	30s with 
uniform speed. The ratio of distance to 
the displacement traveleld by the athlete 
at the end of 45s is. 

1. 2r 	 2. 	- r 
3 

3. 	a ir 	 4. 	27r 
2 

103. c.t) Th-T 7 jralT a 	.' 	r -$ 	cioicPi 
30s A 

WI 

q?‘t 
zictcm 
45s 

1- 4iiki 	ilD 	'0" cmor * I 
1T 1,') .4 

3 

31"-- 	A Rsi (-4 5 NIz.T 
- 

	

2. 	-
2

/. 

	

4. 	27t 

%-eircr9 ,br 371crm t 

1. 	2r 

3. 7r 
2 

104. 	Five resistances of same 
joined in an electric 
figure. 	The 	equivalent 
between ends P and 

X 
ivwvv\ 

of 'x is
P  

value 
circuit as 

Q is 30. 

X 

X 
AAAAAA__. 

m.tys.m._, 

'x' 
shown 

resistance 
The 

are 
in 

value 

104. s4i9Irt 	1-iiri 	'X' 	* 	141T-1 Vff*T 'crT 
t 1 p  3it7 

* I 	'X' 

X 

IV tOW 
A 	1. -;iii-sol, 	,,i) 	Tri Q ftit 

''-- 	,t-ifig(-4 eattl" 3S2 
X 

AAAAAA 	 

fITF t I 

Q  

1. -Q 
5 

3. 

X ___AAAAAA P• 

Q 

1. -0 
5 
? 

3. 

_____Nvv\N\ X _____AAAAAA________• 
X 

	

2. 	-
5 r/ 
4 

-
21

Q 	 4.  -
7
0 

4 	 4 
2. 50 

4 
1 

-K2 	 4. -
7 n 

4 	 4 

0: 
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2 105. A 	bomb 	of 	mass 	9kg 	initially 	at 	rest 
explodes into two pieces of masses 3kg 
and 	6kg. 	If the 	kinetic 	energy 	of 3kg 
mass is 216J, then the velocity of 6kg 
mass will be 
1. 4 m/s 	 2. 	3 m/s 
3. 2 m/s 	 4. 6 m/s 

105. Aft F- 	171-1:1 31-Mr2TT 	chi 	9kg c c1,-14-11-1 	chi. lch 

-41 1 	%-k-t))t 	Ellq 	3kg 	f 6kg 	cczli-ii-II Z 	c'1 

5ct-) 	14 	falTT 	c 	-g)- 	ullc11 t I 	Tff - 	3kg 

i 	al 	6kg 

m/s 
m/s 

a-14-i1.-1 	1-ifd- 	6) Uli 	216J 

cl-4 4-11-1 	-c't 	Trl 	B)-Tfi 1 
1. 4 m/s 	 2. 	3 
3. 2 m/s 	 4. 6 

106. A glass rod is rubbed with silk, is found 106. 0-4-ci 	'65- 	fti--- 	t 	soi.) 	AR 	-1,-1 	31-1-4- 1ff 
positively charged. This is because. 171" 	4  1 	-a-tft 
1. 	Electrons are transferred from glass 

c't 1. 	(t)i-c4 	ia - - 4 -1=4T 	4 3tH *Q1c1-0.-1I 
rod to silk. 

2. 	Electrons are transferred from silk to 4)1 .--Q,Tifflul- 	311- 1 
• 

glass rod. 2. Ri--  A-  ct)i-c4 	4 io--. 	31)7 *crIcN i -I 

3. Protons are transferred from glass OA .R--2-T1-- ur OTT I 
rod 

to silk. 
3. 	chi 

CDT' 

-c-1 	c > 	- 	ftf-- 	4 31)7 Citek) 	cl.)I 

.pn-  1 
4. 	Protons are transferred from silk to 

glass rod. 4. 	RI--  t ct)i-r-i c 	W 	c 	31)7 Art9)-  cbi 

.241-9T- uT 3-fT 

107. A ship rises up as it enters the sea from 107. .9t 	Ti-V -I).  AST ct-PA Lk ul6k31 	--ER '3d 
a river because \Alai 	-4-aft 

	

1. 	Sea water is harder than river water. 

	

2. 	Density of sea water is lesser than 
---a 1. 	Ti-p-  cbt urr- r 	Errt 	ci-)61 	61c-il 

river water. t I 

3. 	Large quantity of sea water pushes 2. 	71-1Sq 	tilt ct>1 	-1--ic-ci 	9-id Tilt 
ship up. --1.-i c-c-1 	A-  Wli t I 

4. 	Density of sea water is greater than 3. 11--- t EIT4 	31-f4-- 	liTT ul6lui ch) 
river water. 

- r .4 3N" qTh1-6"t g 

4. s-IT-qsc 	tift 	ct)I 	-1.-Icc.1 -9t * 1311-41.  .. 

1,1c-c4 t 3114T t I 
108. Which are of teh following represents the 108. s -kei 	a el ct) 14 L -4 T2  c 	4N "r41 1 14 34 .f -31.  

correct 	graph 	between 	L 	and 	T2 	in 
simple pendulum? 

McF c4)i 1--)(-1ti1 	Tit t? 

1. 2. 

1. T T2   
/ 

T2  2./ 

1.• 
0 	L 	 0 	L 

o• 
0 	L  

3. 4. 

3. 4. T2 T
2 

T2  
0 	L 	 0 	L 

O 	L 	 O 	L 
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109. 	Which 	are 
depicts reflection. 
inclined at 

1. 

Alk50°  

of 	the 	following 	correctly 
when two mirrors 

an angle of 50°? 

N 	 2. 

40° 	 Alli50°  

are 

60°  

109. 	f4T9 -et 74 (4)1.-1 1TRFIA9 •Wr Tit qui-9-  cmc11 t 
we 	,wiciri 

1. 

50°  

4171 50° "$ Th--Nrzni q 31-MU 

N 	 2. 

40° 	 Ak50°  

t? 

N 

60°  

3. 	 N 

0°  

4. 	85° 	N 

° 	 0°  

3. 	 N 

50°  

4. 	85° 

4 • 	 *50°  
• 

110. 	Acceleration 
shown below 

T 

time graph of a body is 
: 

110, 	) 	cist-k1 
t I 

t 

c.r)i 	c-c.<ui 	- 	791iti 	wit-) 	14--i(c (Zqc1 

a 
0 

a 
t ----* 

0 

Which 
grah 
1.1 

of 	the 	following 	velocity 
of the same body? 

	

2. 	t. 

time 
t-* 

Ri---1 
t? 
1.T 

-4 t cf1.-1 TiT .5fl cmj 

2.T 

Th-f 	TiTrzr um-) 

V v 
V v 

3. t 

_____* 

/ 	4. t 

t 
--0. 

3. t 

t 

/ 	4. t 

t 

\ v/ v -o.. --\-- 
/ vv t 
/ 	

--).\ 
t --0. 

t_0. 
111. 	A 	man 	of 80kg 	mass 	stands on 	a 

weighting 	machine 	in 	a 	lift 	which 	is 
moving upwards with a uniform speed of 
5m/s. 	The 	reading 	of 	the 	weighing 
machine will be. (Take g = 10 m/s2) 
1. Zero 	 2. 400N 
3. 800N 	 4. 1200N 

• 

111. 	80 	1401XTO 	c•?-14ii.-i 	Th-T 	c.t) 	vIr41- 	et) l'EfZ 14 
-R 7)- 	) 	,W-11-1 	Tild t TER e6) 31 	4ID 	c 

--ER g, 4 	., 1-TF TR11-9 	u--r t I ITR 
Tafta.  wr trr-daf- 	Oqi 1 ( g = 10 m/s 	) 
1. 	T:1 	 2. 	400N 
3. 	800N 	 4. 	1200N 

112. 	An electric bulb marked 40W-220V is 
connected - with 	an 	electric 	supply 	of 
liov. Its elctric power is 
1. 100 W 	 2. 40 W 
3. 20 W 	 4. 10 W 

112. -) ft-tiff (lc4 itTi ER 40W-220V 3iTh- 	t, 
m--). 	110v 	4 	fagff. -iTza-r4 	-ffr24-  ,sill 	qzil 
t I T-1--4 11V Vre4 T t 
1. 100 W 	 2. 40 W 
3. 20 W 	 4. 10 W 

113. An 	overhead 	power transmission 	line 
carries 	a 	current 	from 	east 	to 	west 
directs as Then magnetic field at a point 
1.5m north of the line is in 
1. North direction 
2. South direction 
3. Vertically upward 
4. Vertically downward 

113. 	c,t) 	3L-1'0114) e4fr sti-r-WI . 1-* 	14 Na ql7T 
1:0 t TO-wi ft -Jr 4 34R.  craritff 	--6'tt I 
*flc 	tt 	\i-ck 	f'4-iT 	14 	1.5 	41-0 	V 	ft24-ff 
ic4 	ER TT-4-4 &-)7 4 ftvrr t - 
1. 	\ivH itur -4 
2. 	-d4ur ftur A- 
3. 3-4117 Tel7 4 3N 
4. 314OR A--  4 31)7 
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114. 	Total 	internal 	reflection 	is not possible 
when ray of light travels from 
1. glass to water 	. 
2. glass to air 
3. water to air 
4. water to glass  

114. 	rO 341---- 	Ivicick T1741-4 91 t ‘31.4 qct)R1 

4 	-o-r s -i-r-Nul 
1. 	cl)i-c4 34 rift- 14 	2. 	chill t 6cil A 
3. 	rift .R4 6cii 14 	4. 	rift t cPir4 14 

115. 	How many grams of oxygen 	gas is 
essentially 	required, 	for 	complete 
combustion of 3 moles of butane gas? 
1. 624g 	 2. 312g 
3. 128g 	 4. 64g 

115. 3 t7 V-9.  '1,-1 * uuj q6-I * '1: 7 be 
4,119 31-M-TF-- 	t 	31-r-i-Frw-dT .oter %? 
1. 624g 	 2. 312g 
3. 128g 	 4. 64g 

116. IUPAC name of 	(11 	1? 	is : 
u - c - c - H 

1. Oxoethanal 	2. Glyoxal 
3. 	Ethanedial 	 4. Ethatiedione 

116. 	o 	0 	cpi 	IUPAC -i14-1 *: ii 	ii 
• H - c - c - H 
.1. 	3ff-471)709-6. 	2. 	4 MIOTT-44F 
3. 	-q2)-9- 31-F 	4. 	72 	3>F 

117., What is the mass of pure ethanoic acid 
rquired to neutralise 280 mL of 0.5 molar 
pure lime water completely? 

	

1. 60.4g 	 2. 	30.2g 
3. 	16.8g 	 4. 	8.4g 

117. 	0.5 Tka7 W 	tk.) 	riTt 	280mL 	4)) 
jr 1-14--d-zrr \3qH-11-1 cm.) * 	•q"0-9 	3TRE 

f+--d-4 	c2-iiii,-1 4 3Trq-44mdr t-dr *? 
1. 60.4g 	 2. 	30.2g 
3. 	16.8g 	 4. 	8.4g 

118. 	A metal Sulphate has the formula MSO4, 
The phosphate of the same metal will 
have the formula. 
1. M3 (PO4)3 	 2. M2 PO4 
3. M (PO4)2 	 4. M3 (PO4)2 

118. 	c.t) Mg TI-Fb 	4)1 	‘q,:i MSO4 t1 •Ut gig 
1-0-N4) t 4)1 ,V i~14Il - 

1. M3 (PO4)3 	 2. M2  PO4  
3. M (PO4)2 	 4. M3 (PO4)2 

119. 	The mass of sodium 	chloride formed 1 
when 	5.3g 	of 	sodium 	carbonate 	is 

dissolved 	in 	250m1 	of 	
I 
- molar 	HCI 
2 

solution will be - 
1. 	5.85g 	 2. 	7.32g 
3. 	11.7g 	 4. 	58.5g 

....,_ 
119. Trft 	5.3g 	41. 11-1 	4)161.1.) 	ct)

\  
i 	- 	4-iim 	HCI 

2 
RoRN-1-1 * 250m1 14.  EIY-OT ulldl * t ssi,) 7 
fll 	zpi 	cl-ei 'fl*6 	(.4.44-11-1 	61411 	- 
1. 	5.85g 	 2. 	7.32g 
3. 	11.7g 	 4. 	58.5g 

120. A gas mixutre contains 50% helium and 
50% methane by volume at S.T.P. What 
is 	the 	percentage 	by 	mass 	of 	the 
methane in the mixture? 
1. 20% 	 2. 40% 
3. 60% 	 4. 80% 

120. 	S.T.P. 	tR 3TFTd9- 	31TITR. 	°t-) fl-Ritzt ftisglif 
-4 50% g-nqfl 3N 50% 1449.  t I *0 M33TuT 
14*-1-9.  4)1 	(-)4 411-1 gDic-i 	4441P 

- 
1. 20% 	 2. 40%  
3. 60% 	 4. 80%  

121. 	The German silver, 	an alloy, 	has the 
composition - 
1. Cu+Sn+Zn 	 2. Cu+Zn+Ni 
3. Cu+Ag+Zn 	 4. Ag+Hg+Sn 

121. 	.W19-  Ri--R- 	-Hilo) 	ft 1-5g 	zig 	col 	,t-t-id-f 	6)01 
t-- 
1. Cu+Sn+Zn 	 2. Cu+Zn+Ni 
3. Cu+Ag+Zn 	 4. Ag+Hg+Sn 

122. 	Out 	of 	the 	following, 	which 	is 	the 
incorrect statement? 
1. Adsorption is always an exothermic 

process 
2. The soap solution is not a colloidal 

solution below its CMC. 
3. "Argyrol" used in eye-lotion is a 

colloidal solution. 
4. Gold number is the numebr of moles 

of gold formed in anode mud during 
copper refining. 

	

vilcil 	 t 1 

122. 	14-.11 	c-1 14 34 4)1-1 3T{ITT- 1219-  t? 
1. 3Tf4a4-h-Erur *ici 	, thu-1lalt vi -zir t I 
2. 3474 CMC 	t- , tlIV °f)1 ft -67:19- 	c,0 

cr))011) %,H-1-1 9 6)01 *1 
" 	- 	" 3. 31 .4 diii.) qr,ji qui 14 
-9--4Tr 	-, ct)loi*,41 foq--r t I 

4. 0'1 	* rife * qU,-1 	-1)6-Lict-) 14 
. 	ftgd- 	qul 	Tfra't ct)) TE4.-*iszii ct-)1 
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123. 	A mixture of non-reacting gases contains 
hydrogen and oxygen gases int he mass 
ratio of 1 	: 4 respectively. What will be 
the molar ratio of the above two gases in 
the mixture? 
1. 	16 : 	1 	 2. 	1 	: 4 
3. 	4 : 1 	 5. 	1 	: 6 

.. 123. 	J 	•' 	4  fl. 	cb 	11131- 	14 	61* 	\y1-1 	ci•  
31-1-4#1-- 	41 	4)1 	c2-14-11-1 	- 	31T1Td- 	5.1.)Hi: 

- 1-  1 : 4 	t I 	0-i 	f43 1-1JT 	t-N)4c-1 	- ),-i11 	n a 	4)1 
il--67-34--Icrra 4-ar 	1,11? 
1. 	16 : 	1 	 2. 	1 	: 4 
3. 	4 : 1 	 5. 	1 	: 6 

124. 	An element 'X' has the same number of 
electrons in the first and the fourth shell 
as well as in the second and the third 
shell. What is teh formula and nature of 
its oxide? 
1. XO, Neutral 	 2. X02, Acidic 
3. X02, Amphoteric 	3. XO, Basic 

ir Mt?  

124. Bch 	d-c-c1 	'X' 	-- 	IT-6- 	3-N 	4) 	TAT 	14 	c_.t) 

fli-H--i 	0c4v -I 	t 3Nil 	qc4-)R 	e,, 	31' 	4-i: 

.a.T 14 1̀11 I 	311(- 	31-14TITO 	4)1 	sl\-A 	Luq-T--it 

q-?s 

1. 	XO, 	ql'a.-1 	 2. 	X02, 314"Rir 

3. 	X02, 3-4-1-4qA 	4. 	XO, alTtrEf 
125. Which of the following is not used as a 

food preservative? 
1. Alitame 	 2. 	BHA 
3. BHT 	 4. Na2S03  

125. 	1-4-.-11* 	c1 	.4 	"R)- 	4)1,1 	,z-11 	yct, 	fl-Er-Eri9-- 

-9-ef t'? 
1. 	Alitame (. rf --a-4=1) 	2. 	BHA 
3. BHT 	 4. Na2SO3  

126. 	Match the column-I with column-II 126. 	T-121T-1 	4-) 	---1.4-1---2 	*112T 	ra-d- -ThY'rK I 
Column-I Column-II -1-  - 	1 TTY - 2 

(a) 0.5 mole SO2  
gas 

(P) 10 moles of 
proton 

(a) 	0.5 1=1)--d',S02  fl 	-i (P) 10 1=11' t-ei .  

(b) 	1 l'It 	uid (Q) 11.2 L S.T.P uk (b) 1 mole H2O (Q) 11.2 L at S.T.P 
(c) 96g of 02  '1s1 (R) 2 1=1)-0 (c) 96g of 02  gas (R) 2 moles 
(d) 88g of CO2  Ni (S) 6 1:11-d-  MTH-El (d) 88g of CO2  

gas 
(S) 6 moles of 

atoms 1. (a) - (R), (b) - (P), (c) - (Q), (d) - (S) 
2. (d) - (P), (c) - (Q), (b) - (R), (a) - (S) 
3. (a) - (P), (b) - (Q), (c) - (S), (d) - (R) 
4. (a) - (Q), (b) - (P), (c) - (S), (d) - (R) 

1. (a) - (R), (b) - (P), (c) - (Q), (d) - (S) 
2. (d) - (P), (c) - (Q), (b) - (R), (a) - (S) 
3. (a) - (P), (b) - (Q), (c) - (S), (d) - (R) 
4. (a) - (Q), (b) - (P), (c) - (S), (d) - (R) 

127. 	Choose the incorrect statement : 
1. Iodine-value is a parameter to denote 

the 	degree 	of unsaturation 	of fatty 
acids. 

2. Cholesterol is not present in plant fats 
3. Rancidity is a reduction process of 

oily food materials. 
4. Tocopherol is an antioxidant. 

127. 	31Ti-cTI. 	2T-q 

1. 31)-t-q-ITH cl,Z-11-34-1714 	3T#71d-T 

1=1-11 cb) 	*II') 	cl1Q-11 	Lch 44{1f t I 

2. ct))e)sle-1 	cfrisND-ck-11 A -9--61-  tun-  u11d( 

g.  I 

3. 41.-q-UT 1-A-zi '1-1- 	Erq-Tql 4,1 	-, 

alt-i-cm-t .qm-li t I 

4. ac1)),4,, lc,1 	4 	-crffi- 	-.' 	t 1 
128. 	Iodine present in iodised salt in our diet 

is essential for 
1. Synthesis of insulin 
2. Synthesis of thyroxine 
3. Synthesis of adrenalin 
4. Synthesis of growth hormone 

128. 	31-f6R 1)-  31-7frt1-9-  Tff 	-14-14) 	-4 311- 	t 

31ft-Rm- 

1. T---Sf'd-q 	sd. e)tiiil 14 

2. 21Tzl-R1%9-9- 	flc,)Nul A- 

c).-Ilf- -1 3. ‘d(,)Nul 	11 

-4 4. cj16141.-1 	(-)tlui 

129. 	Which of the following is not controlled 
by medulla in hind brain 
1. 	Blood pressure 	2. 	Salivation 
3. Body Posture 	4. Vomitting 

129. 	L-N-c-H14-citct, 	R- m- 	4VF 	-g-1-- 1- 	4)1--1 	#I- 	ft-TfT 

(.11-)ic-1 	-81 MI 

1. 	-qtr 	-Fq. 	 2. 	ON 311-97 

3. 	Wtrqr - 1- -4P'qi 	4. 3- 'f 6),-I I 	(TIq) 
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130. 	The breakdown of glucose to pyruvate 
takes place in 
1.Mitochondria 	2. 	Nucleus 
3. 	Lungs 	 4. Cytoplasm 

130. 	'c x,111 	4 	71zRo 	# 	i 	s-1. 	cb6-i 	EfitT 

6)cil t - 
1. 	4-11*t14R- 411 	2. 	-ct-) 

3. 	14341t,d 	 4. 	4P14 	-0-4 

131. 	The oxygen rich blood from lungs comes 
to the heart in :- 
1. 	Left atrium 	2. 	Right atrium 
3. 	Right ventricle 	4. 	Left ventricle 

-MT 131. 	i:Wf 	31-1-49-  ?pi TOU V--4-TI # 31t 

1. 	-4R11 31 	TT A 	2. 	-Ff'r 3Tfa'-4 =4 
3 	ql-4T ft-KO # 	4. 	.q-Tzn fkOTE T) 

132. 	Growth 	of 	pollen 	tube 	in 	the 	style 
towards 	the 	ovule 	in 	plants 	is 	an 
example of 
1. Geotropism 
2. Hydrotropism 
3. Phototropism 
4. Chemotropism 

't 132. 	1-NIJI--iel) 	4 FOTh-f4d-  61(1-) 	erdTh-T 	6)a 	V 

t---T 	Oct) 	14-49-1.  i:--4 	qok 	4 	Tit TT 

\3q16s0-il 	t I 
1. 	4j.cc11.1cich- 	2. 	uldhlci 	--T 

3. 	-540-)M1Tici-f 	4. 	-1R1-1110J-1 

133. 	The 	common 	passage 	of 	urine 	and 
sperm in human male is 
1. 	Seminal vesicle 	• 	2. 	ureter 
3. Vas deferens 	4. 	Urethra 

133. 	TITT4 	-k 	# 	-6- 	Titlqf 	9 	W1 	-5-- 	-cr-cf 

-1-0134 T4F-6-  4,1 zIpsi HI4 t 

1. 	,10-)R14 	 2. 	V 9-faTT 

3. 	'U- 	4041 	 4. 	'i 	4-iI4 

134. 	Out of the following, which enzyme is 
active in acidic medium 
1. 	Pepsin 	 2. 	Trypsin 
3. Lipase 	 4. Amylase 

134. 	fFT 	# 	.4 	ci 	•-viI*4-1 	41 	31R-TRI 	TiT-ZrTf 	-4 

TifTi 6101 t I 
if 1. 	4f: 	 2. 	-Pi-9.  

3. 	.T-*-1t 	 4. 	31TET- Tx 

135. 	Bowman capsule is found in 
1, 	Small intestine 	2. 	Kidneys 
3. 	Heart 	 4. 	Brain 

135. 	qf#9.  TITF WET uilcil * - 

1. 	165-\TM 31fcl # 	2. 	cect) 

3. 	T4-4 # 	 4. 	lTitc5 # 

136. 	"Khadins" are used in Rajasthan to :- 
1. Check soil erosion 
2. Recharge ground water 
3. Promote soil erosion 
4. Trap wild animals. 

""cln-i"" 136. 	,fluK2ITTI # Agri 	* :- 
1. TS-41-af-R-ur 0,1 	ch.-11 
2. '40-- 	0)1 T-hRuT 
3. -IFT-a1717 4 	ciicii 	-11 I 
4. 41141 	vil-Icis 	ct))- 1-14)--II I 

137. 	Which of these is 'not' a reflex action. 
1. Salivation on smell of food 
2. Secretion of sweat 
3. Blinking of eye in strong light 
4. Withdrawl of hand on touching hot 
object. 

'1- r 	-g- 137. 	4-1 ,I) 	-it-il Aff-edl 1 --?sfT 
1. FI cbrl -CF11 -4 Mk 3u-9-r 
2. 11-41-9T nct)d-II 
3. III 	I 	ict-)M # 3ftl-  $-Iti 4)-11 

4. H 4 	ci \z-q 	ci-,) u2.-4 	'- 	trzT 	1 cct)-11 I 

138. 	A food 	chain 	comprising 	of a 	snake, 
grass, 	frog 	and 	insect, 	the 	secondary 
consumer is :- 1. 
1. 	Insect 	 2. 	Snake 
3. 	Frog 	 4. 	Grass 

138. 	,-IILI, 	'EMT, 	-41d-T 3 	-- IZ gM 	a  

,4um .14 ft-Otzi 	i:41-fr-4m * - 
2. 	41:1 

	

3 	 4. 	EfRi  

	

. 	-4-4-T 

139. 	Identify 	the 	inherited 	trait 	from 	the 
following : 
1. Colour of seed of garden pea. 
2. Developed musculature of a wrestler. 
3. Singing ability of a person. 
4. Darkening of skin due to exposure to 

sunlight 

139. 	P4--1iNci # 	31-1-VNT 	--aiul. 146-Ellf) 	:- 

1. 	11--d7 	tT3i- 	q-Ti 	-T-r 

2.Vic- .t) IT601.-1 m 11OR1R-1 	4-1k-11\40) 

3. lei, - fWi chrl 	41H-1-1 alTiJT 

4. T1 	Wct)M 	glif4 # ccitli 4)1 cbkiI 

61-IT 
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140. Which of the following disease cannot be 
sexually transmitted. 
1. Cholera 	2. HIV / AIDS 
3. Syphilis 	4. Gonorrhoea 

14o. 1- --11.WZ5ci A3-).  cni.-1 	-iT 'Ili 	44-1 T4-4ftd-  9t 
P 
1. 	cPsic)1 	( 	k5ii) 	2. 	I.3-TT.41./ 	.sfl 
3. 	R-14,1 ,4i 	4. 	41)-1)R-II 

141. The simplified form 	of the expression 
given below is :- 

4 	4 	3 
Y - x 	Y 

x(x + y) 	x 

141. 

y4 - X4 	y3 

x(x + y) 	x  
2 	/ 	V 	'-kCiC14-i 	\'')t-i 	t :- 

y - xy+ x 

	

1. 	1 	 2. 	0 

	

3. 	-1 	 4. 	2 

y2 -Xy+X2 

	

1. 	1 	 2. 	0 

	

3. 	-1 	 4. 	2 

142. 
4xy 

If 	 the 	value 	of a = 	• 142. 

	

4xy_._,, .. 	a + 2x 	a + 2y 
zit 	 6! ai 	+ 

	col  
a = 	II 

x + y 

a+2x 	a+2y ,1kc,id4-i 
+ 	in most simplified form is 

x + y 	a -2x 	a -2y 

•,-)t-i 	t 	:- 

	

1. 	0 	 2. 	1 

	

3. 	-1 	 4. 	2 
a-2x 	a-2y 

1. 	0 	 2. 	1 
3. 	-1 	 4. 	2 

143. 
X2  - bx 	in - I X2  

If 	 has = 	, 	roots which are 143. 
- bx 	in - I 

TI-1 - 	,41Acmul 	 = 	* 	4-0 
(ix - c 	in +1 

numerically equal but of opposite signs, 
the value value of m must be: 
1. 	(a-b) / (a+b) 	2. 	(a+b) / (a- 

3. c 	 4. y 

ax - c 	in + I 
,--q-iic-iict) 	•nt-i 	14 	ti4-i hi 	'ff9-11-  F41Ttfd-  

c 

cr 'm' WI 411,1 	14ii I 
1. 	(a-b) / (a+b) 	2. 	(a+b) / (a-b) 

3. 	c 	 4. 	1c 

144. In 	the 	set 	of 	equations 	z "' 
= yir , 

2' = 2.4'; 	x+y+z= 16, the integral 

roots in the order x, y, z are : 
1. 	3, 4, 9 	 2. 	9, -5, 12 
3. 	12, -5, 9 	 4. 	4, 3, 9 

144. -ftm ,1,-11ct-,01 	,41vciz1 	z A  = )72x  

2:=2.4x; 	x+y+z=16,4 x, y, z * m4-I 

A 10-ri- 	to * :- 
1. 	3, 4, 9 	 2. 	9, -5, 12 
3. 	12, -5, 9 	 4. 	4, 3, 9 

145. AABC is an quilateral triangle, we have 
BD = EG = DF = DE = EC. then the ratio 
of the area of the shaded portion to area 
of AABC is :- 

A 
1. 4/11 

2. 7/9 	 F 	G 

3. 5/12 
	A 

145. AABC 	cl.-) 	,14-1c11§ Filp * 3TYR.  BD = EG = 

DF = DE = EC 	A- 	U)' 	ulzin)cl. 1-1FT'ff2-TT 

AABC 	a)---cb--A let 3T-T11-ff 	4 11 I 
A 

1. 4/11 

2. 7/9 	 F 	G 
 

3. 5/12 	
A 	A 

4 . 6/7 	 B 	D 	E 	C 
4. 6/7 	 BDEC 

146. If A+B=90° then 

tan A tan B + tan A cot B 	sin 2  B 
is 

146. Tift A+B=90° 

tail A tan B + tan A cot B 	sin 2  B 	 
t 

	

cmcH 	I 
sin A sec B • 	cos 2  A 

equal to 
1. Cot2A 	 2. Cot2B 
3. -tan2A 	 4. -Cot2A 

sin A sec B 	cos'
, 
  A 

1. Cot2A 	 2. Cot2B 
3. -tan2A 	 4. -Cot2A 
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147. The value 

[ 	1 

of the 

1 

following 

1 

expression is 

- 	1 

147. ft371 ce-i 

1 

\-31 ch 	4)1 	411.1 

 1 
+ 

t : - 

1 
+ 

_ 
1 

. 

ljf -1) 

S 

	

1. 	10/21 

	

3. 	15/22 

+ (42-1) + (62-1) 
+ 	.....:1- 

2. 	13/27 
4. 8/33 

(26.-ld 
• . 

(22-1) 1 

1. 	10/21 
3. 15/22 

_t4--1) 

1 
( 	) 

	

6-  -1 1+ 
	 

+ 

	

2. 	13/27 
4. 8/33 

_ (202 -1) 

148. 	If 2s1".v+e"si.  = 1, 	1 6s'" '
, 	

"s2-1' = 4 , then 
values of sin x and cos y respectively 
are. 
1. 	-1/2, 1/2 	 . 	2. 	1/2, -1/3 

1 	- 1 
3. 1, -1 	 4. 	„ 

V2  V2 

YCOS
,
-  ,Y = 4 •th 	sinx 148. za 	

2 sin x+cos y =1, 	16'1'2 --f- 

r cosy z soi-RI: 4-II-1 t: 
1. 	-1/2, 1/2 	 2. 	1/2, -1/3 

1 	-1 
3. 1, -1 	 4. 	„ 

A/2 V2 

149. ABCD is a square of area of 4 square 
.units 	which 	is 	divided 	into. 4 	non 
overlapping triangles as shown in figure, 
then sum of perimeters of the triangles 
so formed is: 

1. 8(2 + -5) 	D 	C 

149. 	) 	col 	Rykicol 	e)----cb6.  4 	04 	*c111 	t cI 4 

firA)' 	A- 	flTrft-o- 	1 --Trr 	flqi 	t 	,),11 	14) 
3Iffit A' 	-rezir ,le41 t, *,fl mcm 441-  fil-pl 

LiP4-i NI 	cm,i)4l t I 

1. 8(2 + .5) 	 D 	C 

2. 	8(1+ -\5) 

3. 4(1+ -5) 

. . 	,  

	

. . 	, 

	

. 	• •• 
,, 

	

/ 	•. 

	

, 	. 

2. 8(1+ ,/".5..) 

3. 4(1 +1-2-) 

. . 	• 
, • 

. ,<, . „ , 	. 
4. .42 + V2) 	 A' 	B 4. 4(2 + -F2) 	A' 	B 

150. 	In the diagram ABCD is a rectangle with 
AE=EF=FB. the ratio of the areas of 
triangle CEF and that of rectangle ABCD 
is 
1.. 1:6 	 D 	 C 

150. 	ti 4 I 	31-7ft k ABCD t 	31-4d-  t, i -T1-14 
AE=EF=FBFil-P- 	CEF 	-4 31T -4-d-  ABCD 
&--)---cfra): 14 311c1Tff t- 
1. 	1:6 	 D 	 C  

	

2. 	1:8 

	

3. 	1:9 

2. 1:8  
3. 1:9  
4. 	1:10 	A 	E 	F 	B 	. 4. 1:10 	A 	E 	F 	B 

151. 	If we divide a two digit number by the 
sum of its digits we get 4 as quotient and 
3 as remainder. Now if we divide that 
two digit numebr by the product of its 
digits, we get 3 as quotient and 5 as 
remainder The two digit number is : 
1. Even 	 2. odd prime 
3. Odd composite 	4. odd 

-ef 151. 	Tn.  ti 3W1 4-1-t 	(t) s-1.-q41 	\31 ci) 34-0-  * 
4 1 	t fall-rf -u -1-r 	.y0 th. 1-11414po 	AR.  

trEFFF st)41 n 430 3 q1-1 1-  6)c) * 131-4 Tift 
• fl 	q) 	3fThl qr4r 	•-kqt 	cp) 	ti 	3t-4 * 

4,tut-1 Lb d 	t 	ITF 	ftErr 	,-ii . 	t 	'4-11 4 1 4-pei 	3R- 
. *T-6-  st-Pi-in 3 30 5 AlTd-  6) g I 	t 3W 

q1-41 ,-k,Q4r s:- 

1. 	fl4-I 	s1 -c'e-1 I 	2. 	ft1SFE 314-T17-4T 	s-kg-1 T 
3. 	fatsfgf 1-1173T1 flt.q-II 	4. 	fttili '1 .A I 

152. 	The average weight (in kg) of all the 
students in a class equals the number of 
students in the class. The increase in the 
average weight when a teacher of 21kg 
is 	included 	equals 	the 	decrease 	in 
average weight when a student of 19kg 
is included. The strength of the class is. 
1. 	15 	 2. 	10 
3. 20 	 4. 	17 

152. 	Bch 	- a-TT 	'Tit "Es5T-- 	1-TR 	(l '--dt 	4,1 iW-I 	14) 

cm 3fi-f{d-  13-1- 1 4 cro s-k.i 	GNIEN * I 21 

f --6).  4,1 i i-i TR * ftai-- 	4 ftfm4 ER 3NT-ff 

ITR \R1-1I -61- 	TM t iWT Bch 19 ft-A" 4,1141 

'11-17 ciic) lETI" 	cl)) nct)m.) AR aft I-TH t4t11 

* I . aiT c61 cto 	,-i, A1 -&411.  :- 
1. 	15 	 2. 	10 
3. 20 	 4. 	17 
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153. 	Four positive integers sum to 125. If the 
first of these numbers is increased by 4, 
the second is decreased by 4, the third 
is 	multiplied multiplied 	by 	4 	and 	the 	fourth 	is 
divided by 4 we find four equal numbers 
then four original integers are 
1. 	16, 24, 5, 80 	2. 	8, 22, 38, 57 
3. 	7, 19, 46, 53 	4. 	12, 28, 40, 45 

153. 	-c4k 	U9TOTT 	TrTiT). 	TT 	4)4i 	125 	t I 	Tift 
r-•41-  s -kc.q1 14 4 vi). 	ITT un Tit ‘<-icqii 

-it # 3)-  4 uti FOT vi N, •613 ,4-itcz4r ct)) 4 
tot 	2-TT -c11211 ,d.cczit 	4)1 4 3)- 3-TPT cm FOT 
kyiN 	ciei 	-cii, 	szNieN 	6) 	1--et t I 	cis 	-(41A 	iv 
ip-ri-- 	t :- 
1. 	16, 24, 5, 80 	2. 	8, 22, 38, 57 
3. 	7, 19, 46, 53 	4. 	12, 28, 40, 45 

154. 	The 	total 	number 	of 	squares 	on 	a 
chessboard is 
1. 206 	 2. 205 
3. 204 	 4. 202 

154. 	(-4-) 	ic-i4ut * t4 -cR cots 	1 4),0 	, -i's41 t:- 

	

1. 206 	 2. 205 

	

3. 204 	 4. 202 

155. 	In the figure, the area of square ABCD is 
4cm2  and E is mid point of AB; F, G, H 
and K are the mid points of DE, CF, DG 
and CH respectively. The area of AKDC 
is: 

1. lcm2 	A 	E 	B 

155. 	t 4 1 	3171t k c1 41 ABCD Th-TE-)--75F 4cm2  

t 3117 E, AB TT liaf F4 - 1 F, G, H 3TI7 K 
soil 1: DE, CF, DG 3N CH 	liar f4. g-  I 

AKDC TT &L)-- ch-a-  5)4 111 

1•  	
1 
-CM 2 	 A 	E 	 B 

. 	4 
1 	, 2. 	-
8

cm - 

q 	I 	i 
-• -cm - 

16 

4 

2. -I cm 2 

3. -1 cm 2 

16 
i

c 

1 	
D 	 C 4. -cm- 

32 . 
p 

icrn 2 	 D 4. 
32 

156. 	If x% of y is equal to 1% of z, y% of z is 
equal to 1% of x and z% of x is equal to 
1% of y, then the value of xy + yz + zx is 
1. 	1 	 2. 	2 
3. 3 	 4. 4 

156. 	tift y TT x%, 2 T 1% * cm.si 	*, z TT y% , 
x T 1% T GNIGN * 3N x wr z%, y 	1% * 

GNIGN *, c 	xy + yz + zx TT TiT9' 	) 4 11 I 

1. 	1 	 2. 	2 
3. 3 	 4. 4 

157. 	The volume 
cylindrical 
and 

cylinder 

1. 	1  . - 

and 
solid 

s 	respectively. 

is 1 unit 

1 
- 

whole surface 
of radius it' units 

If 	the 

then -
v 

is equal 
s 

2. 	
1  

2 - 

area of 
are 

height 	of 

to 

1 

a 
v 

157. 	'r' 	*c-01 	f7T1-Y 	I 	(-41e) 	l 	se1.11cO1' 	0)•t-1 	()I 

317Tifff 3ft 	q, 'f rpt-zr a)-qcfra.  cpiin v UP-Hs 

'- t I 	 cl 	4.; ii 	1 	*44 	-1--' itc 
s 

6 	4 11 	I 

1 
1. 

 1 ) 1 
2 

. 
1  (1+ 

r+1 ) 
2 

3. 
 I 

2 

(i 	

r +1 

(1 - - 1) 

r 

) 
2 

2 
4
. 1

(1+1
) 

(1+ 
r+1 

r 

j 

2 

1 
3. 

 

2 

_(1 _ 

(1  _ 1 

r 

) 

r+1) 2 

4 . 1 

2 

1 (, . _) 
i + 

r 
158. 	If the height of right circular cylinder is 

increased by 10% while the radius of 
base is decreased by 10% then curved 
surface area of cylinder. 
1. Remains same 
2. Decreases *1% 
3. Increases by 1% 
4. Increases by 0.1% 

158. 	tch -ri'l-p 4 -cit 	h 0-))-  10% TT f4TfT 4 NI 

--41' f7--zr IT co) 	10% 	titi 	ffT 	41e4i, 	*-d" 
m--r cia, Titt-TI a)---ch-7i 
1. qt1- 	' 4111 
2. 1% 	tic 	viN4ii I 
3. 1% (40 	viN4 ii I 
4. 0.1% @2 uIN 4 11 
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159. 

• 

In the fig LD=90°, AB=16cm, BC=12cm 
and CA=6cm, then CD is. 

13 
1. -C'Ill 	 A 

2. -17
o11 

6 	 16 cm 

3. -
19

C111 
6 

	

1 . 	13c111
6 	 6 

4. -
18 

cm B ♦12cm ►  C 	D 

159. 4-1 	4 1 	31-V4 	14 	LD=90°, 	AB=16cm, 
BC=12cm aiTR" CA=6cm, cii CD t-  I 

2. 
17 
-cm 
6 	 16 c 

3. -
19

cm 
6 

5 4. -
18

cm 	B ♦ 12cm 
4--ii. C D 

5 
160. If x, y, z are real numbers such that 160. 3117 

x, y, z 

Tift 	x, 	y, 	z 	clk-cact) 	•-k.s, 	t, 

Vx -1 + Vy - 2 + Vz - 3 =0 then the 

values of x, y, z are respectively 

	

1. 	1, 2, 3 	 2. 	0, 0, 0 

	

3. 	2, 3, 1 	 4. 	2, 4, 1 

Vx -1 + V y - 2 + Vz - 3 =0 	oci 

cm 	41 i-f st-)9n 	6 4111 
1. 	1, 2, 3 	 2. 	0, 0, 0 
3. 	2, 3, 1 	 4. 	2, 4, 1 

161. Napoleonic code is known as - 
1. Civil code of 1802 
2. Civil code of 1803 
3. Civil code of 1804 
4. Civil code of 1805 

161. 
. 

•)'-1)f-h-i c61 #ffur .-rt.  wer t - 
1. ‘1141Rct) 34ftd-T 1802 
2. i-1141Rct) TitUT 1803 
3. -ii+Pc-r) TaffT 1804 
4: 	‘-11 4 1R(t) #ft-di 1805 

162. When 	was 	Victor 	Emmanuel 	II 
proclaimed king of united Italy? 
1. 	1860 	 2. 	1861 
3. 	1863 	 4. 	1871 

162. -4--Z7 ftTi4Tra fter4 ct))7-4-r- . d---41-  I 
iuti 	El'fikff ft-Tfr 4mi? 

	

1. 	1860 	 2. 	1861 

	

3. 	1863 	 4. 	1871 

163. Satyagrah 	of 	Gandhiji 	, against 
oppressive planation system was started 
from which place? 
1. 	Dandi 	 2. 	Surat 
3. Ahmadabad 	4. Champaran 

163. \yll gii-icra 	Giiiii-i 	'W-43211. 	'' 	Rqqiit-t) 	Iffzit 	 
cm ,6m14,15. it-i-{ 3-Q-1-f9-  3)-  •U• 	3l-T? 
1. 	l'tf 	 2. 	TO 
3. 	3164-N161N 	 4. 	t14-LIkul 

164. 	Who set up the first Indian Jute mill in 
calcutta in 1917? 
1. Seth Hukum Chand 	2. G. D. Birla 
3. Dwaraka Nath Tagore 4. J.N. Tata 

164. ftfa.   1917 	# 	chelcircl 1 	14 	WITT 	7-1TTerZT 	‘V 
"I -"Tik 7-P-Trftd-  c6)? 
1. 	V34-1Tiq 	2. 	vfi. 	-c). f4---OT 
3. 	kcP1.-Il2T -841 ' 	4. 	t. 	Sri. 	dll 

165. Where was khilafat committee formed in 
March 1919? 
1. Lucknow 	 2. Bombay 
3. Lahore 	 4. Ajmer 

165. 4-11r 	1919 	t 	1Z.14-)k1 	mierth 	col 	,loTi 
pfr? 

cpei 

1. 	el 	-I0.) 	 2. 	•q-1=zr 
3. 	c'ile) 	 4. 

166. Who wrote about the injustice of the 
caste system in his book 'Gulamgiri'? 
1. B. R. Ambedkar 
2. Periyar 
3. Amrit Lal Thakkar 
4. Jyotiba Phule 

166. " 4,014-1(1'li -f ---T1--  3TEA 	S-.-T. - 	14 .-Trd1;12,1T .. 
3F-4M-ft 1:1-  fir? 
1. 	fr. 31-R. 31-1*3 -7 	2. 	IrP:117 
3. 	3T4F did Oci-ch 	4. 	'.j)1 NI 10 
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167. 	The Act made by Britishers to censor the 
Indian press was - 
1. Rowlatt Act 
2. Regulating Act 
3. Vernacular Act 
4. Pitt Act 

167. 	3i1)- 1 5 NI liredtzl 	fl 	chi 	,t .,4-k ct-,). 	fM' 
Gi-imi 	,Iii  lctt 24T - 
1. 	sic 1c 	c-i-t 	 2.•#"0-rd.-TT 	c-t-d 
3. 	cfri cilrN 	ct-t 	4. 	Rk 	ci-d 

168. 	Who was the 	king 	of France during 
French Revolution? 
1. Louis XIV 	 2. Louis XV 
3. Louis XVI 	 4. Louis XVII 

168. ,t,111 	4 	--ri' 	TiTizt 	,t)ki 	TT 	, luit 	ct)l-i 
24-r? 

	

1. 	(1 	XIV 	 2. 	(1 	XV 

	

3. 	(-. XVI 	 4. 	c1 	XVII 

169. Which of the following book is not written 
by Premchand? 
1. Rangbhoomi 	2. Indulekha 
3. Sevasadan 	4. Godan 

169. 	fkif 	# t 	0-1 	aR--T '11--- 	-R.T 	-1g1 
-1Z-if iiP 
1. 	tT le 	 2. 	'4 ----qNT 
3. 	)c-1111<-1 	 4. 	4 <i.-1 

170. 	Who was the propaganda minister of 
Hitler? 
1. Goebbels 	 2. Raasputin 
3. Stalin 	 4. 	Helmuth  

170. 	-r8Z-d7 cPI ;MR 11-41 cA -I tIT? 
1. 	Tzl14(-ti 	 2. 	7rugf6-9- 
3. 	*.A.-f 	 4. 	taly 

171. 	Which 	of the following 	country 	is 	not 
included in Indo-china? 
1. Laos 	 2. Vietnam 
3. Cambodia 	 4. Japan 

171. 	R4-,,-AI c cf 	# 	0-1 	*UT 	Yi 	ZT91---cii ,ii 
7T1#1 	rig *? 
1. 	•M3frii 	 2. 	1410.-11ii 
3. 	ch4-ciii 	 4. 	viit-iiri 

172. 	How much percent of iron ore is found in 
Magnetite? 
1. 70% 	 2. 65% 
3. 60% 	 4. 75% 

172. 	4)4.)e1* 	A &O.!.  4 111:11 FSdt eft t ? 
1. 70% 	 2. 65% 
3. 60% 	 4. 75% 

173. 	Which coal has highest quality? 
1. 	Peat 	 2. 	Lignite 
3. bituminous 	 4. Anthracite 

173. 	ftif # t 0-1TiT T-Yz0 TT W.4-)k 31-qThici 
to clicli t? 
1 	alt 	 2. 	1 ,.-Ilt 
3. 	55 	-Ni 	 4. 	2ATil--Z 

174. 	During which period was the greatest 
damage inflicted upon Indian forest? 
1. Colonial period 
2. Mughal period 
3. Maratha period 
4. Gupt period 

174. 	I-T1Tff * cl-II Thl Ti-qt ir=41 1cM-11-1 -1 -Ti OM 
# 	3T-f? 

1. 	\it-ifi (Pio 	2. 	TTF chief 
3. 	i-mor cilief 	4. 	1Ff (mei 

.acNi)d. 175. 	A 	chemical 	compound 	called 	'texol' 
extracted from the Himalyan yew is used 
to cure which disease? 
1. Tuberculosis 	• 	2. Cancer 
3. Asthma 	 4. Fever  

175. 	1411e1L1-1 	qc1 	114 34 .H1L 	TN. 	-ii9cr) 
,“-w-i-i -4 f -R-i X1,1 	cm 	*clivi f ---zir ,flor t? 
1. 	chi 	 2. 	ctk-r 
3. 	3R-2.7 	 4.1T 	 pi7 

176. 	In 	whcih 	year was 	the 	'Project 	tiger' 
launched? 
1. 	1974 	 2. 	1970 
3. 1972 	 4. 	1973 

"ST4 176. 	ti *4N" 4 -7.3TM 0.4 W 

	

1. 	1974 	2. 	1970 

	

3. 	1972 	 4. 	1973 

177. 	Which crop is kharif crop in North and 
Rabi in south India? 
1. Rice 	 2. Sugar cane 
3. Sesame 	 4. cotton 

177. 	ct;),-1-4 	4),(-ici 3ti 11-TR. 	# UtIT Th`l. 17531-F 
iq 	fUrri # 'cil 	WiTF t? 

1. 	T-41c1c1 	 2. 	4 1 -11 

3. 	fo-F 	 4. 	cot-iki 
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178. In which industry limestone is used as a 
raw materail? 
1. cotton textiles 
2. Iron and steel 
3. Cement industry 
4. Jute industry 

178. toi VT it-i-  3Ekrt cif 3TTURIT 0-G-cii Hid 

t? 	
• 1. TO q,-.A 3-EIYTT 

-TT 2. e1)61 311-R-  T'cird 3E1) 
3. 411td 	--al-rr 
4. qe 3-d-TT 

179. Which one of the following is the type of 
plate boundary of the Indian plate along 
the Himalayan Mountain? 
1. Ocean-continent convergence 
2. Divergent-boundary 
3. Transform boundary 
4. Continent-continent convergence 

179. 

2. T  

161-11el1 	4 c1' 	c i 	TIPT IITTerzi 't)--d 	4 	#ITET 
f --U ck6 4 	71117 t? 
1. 	li6N-II4IN-4-iidge4 31-PRTVErf 

3F1311t-Atli 
3. \'041c-k--Q411 
4. 	1-16eiN--4160(N 3rPFRui 

180. Which of the following island groups lies 
to South East India? 
1. Andaman and Nicobar Islands 
2. Lakshadweep Islands 
3. Maldives 
4. Sri Lanka 

180. -rMuT-11-41 I-TRU 	TI 	14-.-11iRAci 	(4-1-1 	TiT 	MIT 

71 	t: 
1. 3i3-1TM 3ft 	Icolisik tcr Tily 
2. &?-1-ticf Tillg 
3. 1-1Iei& 
4. ,311-d-cPT 	

. 

181. Which of the following is the main form 
of degradation in the irrigated areas? 
1. Gully erosion 
2. Wind erosion 
3. Siltation of land 
4. Salinisation of soils 

181. 

• 

1)1-1 	74 	cr;) 'i 	TiT 	ititff 	&-)--1. 	4 
1-( 4---1)(f-POJI 	r 13-cqf wok t? 
1. 31-49TIT 3FFR4  
2. 411 314kq-1 
3. VI IR Ri- 	Th-T kyli-lIci 	 . 
4. 4 	eiclulc11 

182. River Narmada originates from which of 
the following hills: 
1. Amarkantak 
2. Satpura 
3. Vindyachal 	• 
4. Mahabaleshwar 

182. ii 9-  ft --1 q5) 4 3c1TIT 1 4-.11c Rgc-i 	-9-  4>;I1 	u1 
-g31-1? 

1. 	3TITRTht- 	 2. 	Tf-d7T 
3. 	ft air-q-a• 	 4. 	4-1611( 

183. Which one of the following is not a good 
argument in favour of democracy. 
1. People feel free and equal in 	• 

democracy. 
2. Democracy resolves conflict in a 

better way than other. 
3. Democratic government is more 

accountable to the people. 
4. Demoratic countries are more 

prosperous than otherrs. 

183. 1-1--1 -44 	3-4 	ct- ) '1 	.RTI 	0 	(1) Ct) 6 -1 	* 	ilaT 	# 
31--- 	.161.  
1. acoci:i 4 eThi tgq 	col 	-cic-i-A 311 	tiiii-i 

Trr9t t 
2. act)cliDct) v4W-P-1T c c-MIcII cb) ‘.)- -11q1 

31-4i c1N6 Taart .g.  I 
3. actninct) ‘-isN-)k 	ei) 4I) 	cff -  kk.11q1 

\ivNq1e.11 tret t 1 
4.. 	ci)ct)clii)ct) 	V-1 	te 4 qei•ii -44 

Ti-icx 6)c) t I 

184. Who prepared the constitution of India in 
1928. 
1. B.R. Ambedkar 
2. Rajendra Prasad 
3. Jawahar Lal Nehru 
4. Moti Lal Nehru 

184. 1928 	4 	4iRdfizr 	TUT9- 	f--71-ci7 	ICI 	'071-R 
r+-zi-r flqi 
1. 	t. 31R. 311 3c 	2. 	K)).-q M1Iq 
3. 	-Ic.II6 	Mid 	.)6 ,) 	4. 	At dlci ,)6\h) 
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185. Who 	appoints 	the 	chief 	Election 
commissioner of India. 
1. The Prime Minister 
2. People of India 
3. President of India 
4. Chief Justice of India 

185. 1-117ff 7 'cill€1 	-Vic' 	3ITTOTf 	fq-if - t 

- th t.  I 
1. qUH-14-1r 	1-W 

2. TINU * Q-1) 4II -- 0---1 

-ffiKEI-ffi-  3. -RT 

4. 71k0 	11-€f - 11FitT 	1-U 

186. Main 	recommendations 	of 	Mandal 
commission was 
1. reservation for Schedule Caste 
2. reservation for Schedule Tribe 
3. Reservation for Socially and 

educationally backward 
4. Reservation for minorities 

186. 41ue1 347f-11- 	11-04 Rit-t-dW Of 

- 1. Wt 	f' -q-  34-Rau-r 

2. ut-Iuln 	T' -q-  31-RaTur 

3. ,11-11Dc.t,  3N 	&-- 	---cr T)-  WO- 

f 31Hafcrr 
4. ' 	i 	fa-7 3117aTuT 

187. In America Legislature is called 
1. Upper House 	2. Congress 
3. Lower House 	4. Cabinet 

187. 3-1-4RM7 14 f4UTfirThi-  ch) ui I-1 I uildIgl 

1. 	. 711-t 	sd ,-1 	 2. 	cl-)11 	. 

3. 	-1 -6-1. 	, -1 ,,--i 	 4. 	Tit 	4-ie-1 

188. Which one of the following state was 
born 	out 	of 	cultural, 	ethnicity 	and 
geography 
1. 	Kerala 	 2. 	Nagaland 
3. Mizoram 	 4. Assam 

188. f -R-T 	-R-F.T i 	cm 	4 16'1 	iTV-M-, 	uil 	qc1131): 	3fi7 

'1-plt 	34-Nk Lk pfr - 

1. 	c-'d 	 2. 	--11 4101  

3. 	1 ,-nsol 	 4. 	31-RiThi 

189, In 	modern 	democracy 	power 	sharing 
arrangements can take in following way 
1. Among different organs of 

government. 
2. Among Government at different level 2. 
3. Among different social groups 
4. All of them 

189. c't 317,--P- cl-)c-I-A 	14 	fl-c-11 	11$)ql 

1 ,--1f%ci 	--#--): t 	-`1- 	-r-O'r g - 
1. ,Wcf->k 	f f ^T 3#1):  

l---- 	41--  2. sd4)1 	-ftP 	, -c1)  
3. faPI- 	s114-11Dct)  

4. 31:11-41 Tit 

190. Which one of the following subject is of 
union list? 
1. 	Police 	 2. 	Trade 
3. Foreign Affairs 	4. Commerce 

190. '11 -4 -T)-  cl-;)-1 0 itsiz1 offV chi g? 

1. 	ra-C 	 2. 	czliLik 

3. 	ff---ZT T1-1 1 1i1-11- 	4. 	clIPlu 

191. "Religion can never be separated from 
politics" said by - 
1. Sardar pate) 
2. Jawahar Lal Nehru 
3. mahatama Gandhi 
4. Indira Gandhi 

191. ""U4 	 ---gI 	-41- ch) 	‘1,-1 ,-1110 	t 	-.4-ft t 3-F6-TT 	f+ 

jr--ff-  1I 	,1c1-)d1" 	TAT ct)1 	1RI1 - 

1. ,1N4k t1-a-6 

2. ulciI6 	did 	,)6\',-) 

3. 4-161011 -651 

4. rf:kTf 'TT 

192. Who interprets the constitution of India 
1. Lok Sabha 
2. Rajya Sabha 
3. Both (Lok Sabha and Rajya Sabha) 
4. The Supreme Court of India 

192. 11IRt-TI tft.TT9- -11-  01 ...-11 	ct 13Tfg 

1. ci-) 

2. sflu-N17TT ct) 

3. q),-11 	(d)ct) TT11-1-  3,4' 	--F7.3- 1 T1111) 	ct)) 

4.0T-10 4-1 	s- -IN-lic-H-1 	ct) 
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193. 	Which 	one 	of the 	following 	is 	not a 
function of political party 
1. To fill the political offices 
2. contest the election 
3. To pass teh Budget 
4. Do not shape the Public Opinion. 

193. 14-.1fiZgc-i 	it 	t 	chid 	-iT 	,iv-1.-1) 	co 	q qi . 	WE 

•Wrzi .-Ig).  t I 
1. sflkri-ilict) 	t-i<1 	chi 	1179-r 

2. .-iici 	ei 	•-11 	• 5 
3. 4---- 	Liki 	ct),Mi 
4. k31.14-10 TT ffiituT --igi 	ct).-if 

194. 	What is the time period of goverment 
budget in India 
1. From 1 January to 31 December 
2. From 1 March to 30 April 
3. From 1 April to 31 March 
4. From 1 April to 31 Decebmer 

194. 1 # s41Ncta civ-ic. 4 	i-PRi 31-414 (MI t? 
1. 	1 --9--4fr t 31 	R,6 1-(N 
2. 	1 	4-11-4 3-4 30 34a 
3. 1 	34-  1•1 	31 	4-ira 
4. 1 	3t1--  -)' 31 	1.w-EN 

	

195. 	After whcih fiver year plan there were 
three annual plans 
1. 	First five year plan 
2. Third five year plan 

	

- 	3. 	Fourth five year plan 
4. Fifth fiver year plan 

195. -1 -3-1' 	14-4 	u 	7:1)-----9T 	Griu 	--1 	qTfifT 
zIY- 9-1-  31-1 	Rt.? 
1. ITO1 Li-cic44 Th---9-r 

tRit zi" .  	z11----  2. czi 	9"T  
3. 	-c114 vizi q tilLi Ttl-A- T 
4. 	izif-4t Liticith T1)---9T 

196. 	How many days of guaranted work is 
provided by National Rural Employment 
Guarntee Act 
1. 200 days 	 2. 100 days 
3. 300 days 	 4. 500 days 

196. .T-'&1171 	VTituT 	ui 4  I k 	-Mit 	31i4r4zPi 	* 
31d-  f+-d-4 f9-1- 	, k3-1 41k 	T°1-  TIFet t 
Wer t? 
1. 	200 R-1 	 2. 	100 R-I 
3. 	300 R.-i 	 4. 	500 R.-I 

197. 	Which 	one 	of 	the 	following 	agency 
issues one rupee currency note in India. 
1. Reserve Bank of India 
2. Ministry of Finance 
3. Commerce Ministry 
4. Commercial Banks 

197. 1 171 4 4-1 	•i-11 ,--4---4t I-Ti 	# 	) 	-11-4 Ohl 
Th---441 -ht 	Th-Ter t? 

-ct-) 1. •1I 	11 ft--4 
2. 1c4 .  ii.--)iiciq 
3. ulP1v1 	41.--iideT 

4. czlickiAct, 4 

198. 	Selling 	of 	part 	of 	public 	sector 
enterprises is called 
1. Globalization 
2. Privatization 
3. Disinvestment 
4. Liberalization 

198. ,4-11 	vAct) Thl ct-,) 	cmi 	4,6 
g? 
1. ac-1)(-ui 	 2. 	1"‘Act-)Pf 
2. 11)1 	 4. 	k3<ic•t-)1 

199. 	Blue revolution is associated with which 
activity 
1. Indigo cultivation 
2. Fishries 
3. Poultry farming 
4. Availability of drinking water 

199. -d1 AtTh-Ti= 	t -f --€ Trfeof4 t ti€ao 
t? 

. 1. d 	"dr& 
2. 4-ic-N:q 	1-11(.1.-1 
3. VI ITT-d-9.  
4. tzl----F c61 kiLiciectm 

200. 	Which one of these is not a feature of 
money 
1. Medium of Exchange 
2. Source of Income 
3. Store of Value 	• 
4. Unit of Account 	 . 	• 

200. 1*--if 	ci A t 	1.-1 TIE TO TT +Jul 161 t? 
1. 	1. .11-1 TT TiTzzfli 	2. 	3TITI TT ,4--)41 
3. ffF-1-  TT 1.4-1-R. 	4. 	ATT 4 *ct,1 
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